CCSIP/22
Group I Prelims 2022 Answer key
1.  Which is the stronger acid than phenol due to the presence of three same electron with
drawing groups

(1) O-Toluic Acid (i1) Benzoic Acid
(iii) Salicylic Acid (iv) Picric Acid
(A) (iil) LD (B) (1) L@
(O (1) momitd (iv) LD (D) (iv) L@

(E) Answer not known
Lfeormemev el euedlemin &, WDMHMID ePETM B 6TVELIITET SHeUl HMedT G&TevorL
QBMT&ZG&6T QUMMI6TET 3Ldlevid 6T&?

1. O-QLmeSuwi g oflevid 2. QueTsFmuils jdlevd
3. &me& 698 siflevid 4. 96118 9dlevld
(A) (iii) only (B) (i) only
(C) (ii) and (iv) only (D) (iv) only
(E) allemL s flwelevemey (CCSIP/22)
2, was the first mission to be operationalized under the National Action

Plan on Climate Change (NAPCC)

(A) Solar Cities Programme (SCP)

(B) National Solar Mission (NSM)
(C) Solar Green Building (SGB)

(D) Development of Solar Cities (DSC)
(E) Answer not known

&6V Blemey LDTMHMD GMISGS — CHFFW QF W6 HL L GHH 6T HLp QFWeLIRSSLILIL 2 6Tem
W56L Lieoof] G
(A) &iflw sperfl BE&ETMBIGET S LD

(B) G W @l eerfl Lisoof]

(C) &Hflw eefl LFeMEF &1L LD

(D) &iflw eperfl BaTHIGe 6T aeTIER
(E) allemL s flwelevemey (CCSIP/22)

3. Which Biodiversity park in India was announced as the 15t “Other Effective Area-based
Conservation Measures” (OECMs) site?
(A) Tilpath Valley Biodiversity Park
(B) Aravalli Biodiversity Park
(C) Yamuna Biodiversity Park
(D) Adayar Ecopark
(E) Answer not known
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@BHWmelley 2 6Tem 6Thg Levauilfll WBISGT, (WHVTaIgE LwsereT UGS Fribhs
umssmly sernmgs (OECMs) oinfleflsaLiLL (b eTers)

(A) BevUS LI6TeTE S M8 G LU Tl L, mbIgT

(B) @prauevedl LisuewullyLl L, missm

(C) wpeorm LILEVUNTLI LLMBIGST

(D) ojemLwimmi &MHmMIF @Lo6V L, MEIGST

(E) allemL s flwelevemev (CCSIP/22)

4. Arrange the following Indian Women Olympic Medal winners in chronological order

1. Saina Nehwal 2. Lovlina Borgohain
3. Sakshi Malik 4. Karnam Malleswari
(A)2,4,1,3 (B)1,4,2,3
©4,1,3,2 (D) 4,1,2,3

(E) Answer not known
@elLNs GUTLIguiley LUSGHSELID GeleTm LleTal(d @hHw Wwseafleny smevalflengLliLig

WemPULI(GSS6|D

1. MFGTIT G\H6EUIT6V 2. 6V6UESETIT QLI B85 TEt) 85607
3. #mef wmeds 4. &yevorLd D6V Geveneufl
(A)2,4,1,3 (B)1,4,2,3

0 4,1,3,2 (D) 4,1,2,3

(E) allemL s flwelevemey (CCSIP/22)

5. Palmer index is associated with which of the following natural disaster?
(A) Earth quake (B) Volcano
(C) Drought (D) Flood
(E) Answer not known
LmeulnT GMIUT( SLhsmeild @ @uMend FHMECHT(H QFTLFL ML WS

(A) BleuBH &80 (B) etifllnemev
©) aupl & (D) QeueiTerTLd
(E) allemL s flwelevemey (CCSIP/22)

6. Whilch one of the following Indicator is not used to calculate Human Development Index

(HDI)?
(A) Life Expectancy (B) CPI1
(C) Education Index (D) Per Capita Income

(E) Answer not known

Heraumealsraimnile e1hs @ GM&TLLY  wWeflgaer GuUTl (s Gmufieanl &
FH6ooTHH L LIWeTL(H &S LILIH 6USH 606m60?

(A) QUITLDIBITET SITeV 2|66 (B) mayGeury allemev GMlui®

(C) mevall GMIUTH (D) seoflBLT 6UIBLOM6OTLD
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(E) allemL s flwelevemey (CCSIP/22)

7. “Nambikkai Inaiyam (NI)” a Tamil Nadu Government project about
(A) Statewide Block chain infrastructure
(B) Source of resident data for Tamil Nadu
(C) Unified access to e-services of different government departments
(D) Providing professional resources and training to decision makers
(E) Answer not known
“Nambikkai Inaiyam (NI)” sWbprm@® oy& S LD uhmlwsl
(A) nmmlev W weugild Block chain 2 _6Ta1 LemioliLy
(B) s0lppBIL g m&mer &4wflenio gre|serler g mrb
(C) LLCaM STEFMEISGS SIeM 66T e-C& 6615 EH & &0l 62 (HHI G NI H S 3|60 &6V
(D) WYEAIRLILATHEHSHEG QHTLHLSIEMNM aU6THIG6T LILNMHE & 6m e 61D 60
(E) allemL s flwealevemey (CCSIP/22)

8. Which among the following is a scheme of Govt of India for ensuring the safety and dignity
of sanitation workers?
(A) Smile (B) Namaste
(C) Amber (D) West
(E) Answer not known
@BH W STF 6T NetTauBLd HLLBIGHEB6T ST Q& TLSleuTeTigerler LIMgi&mLIen LD
LS LW 2 MIF QFUIG 6T&I?
(A) erveminev (B) BLoeGs
(C) sybuy (D) GeuevL_
(E) allemL s flwelevemey

9. During which Period Bronze Icons of Nataraja deity with four hands was casted?
(A) Chera Period (B) Chola Period
(C) Pandiyas Period (D) Shunga Period
(E) Answer not known
6THS HMVGBLLEH 6V BTETE M&H&HEHLT Fnlqll HLTTRN6T QeletTHeVE &) 60T60T IS 6iT

QUMI&HSLILILL60T?

(A) G&ry s&mevld (B) Gampy smeuld

(C) umevoTIQWITT &ITEVLD (D) w15 &mevld

(E) ellemL s flwelevemev (CCSIP/22)

10. Assertion [A] : Human Resources is necessary for the progress of any country
Reason [R] : Investment in education and health of people can result in a high rate of
returns in the future for a country
(A) Both [A] and [R] are true and (R) explains (A)
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(B) Both [A] and [R] are true and [R] does not explain [A]

(C) [A]is correct and [R] is false

(D) [A] is false and [R] is true

(E) Answer not known

Fammi [A] ! 6MhS @@ BMLIQedT GUWUTLIEMEG W6ofle 6UeTh SHUWMeUFIULTS
QBEH DS

&rgeord [R] : sevall InmHmILD & &6T FevSH 6V (NG5 G &F UGS 60T 6l6m6TelTd HITLL].60T
TR HTVSH L 3H & 3676 LIVET HlemL &G LD

(A) [A] bmmiid [R] @pevor(hd Fiflwimenrgl Lommild [R], [A] emeu ellemd:GH M.

(B) [A] mmomuid [R] @pevor(pd sFiflwmenrg [R], [A] emeu eflemd:sailevemev

(C) [A]l #flwrerg wWHmID [R] SeupTera)

(D) [A]l seupreg! O [R] Eflwmerg

(E) allemL s flwelevemey (CCSIP/22)

11.  Which among the following institutions secured no. 1 overall rank according to national
institutional ranking framework?
(A) IIT, Madras (B) IISC, Bangalore
(C) AIIMS, Delhi (D) IIT, Bombay
(E) Answer not known
Nesreupd mlmiaueTmigGeTlev 61a GHFAW Blmiaier ST S Lennliller L @l (heWnss
sralflenFuile) WsIL G QLDHMSI?

(A) IIT, Q& edTem 60T (B) IISC, QuLImI&eemIT
(C) AIIMS, QL6ved (D) IIT, @plbemLd
(E) allemL s flwelevemev (CCSIP/22)

12. Choose the correct Kural for the explanation given below:
It is more pleasant to hold the dart that has missed an Elephant than that which has targeted
the hare in the forest.
(A) Kaana Muyaleydha Ampinil Yaanai
Pizhaiththavel Endhal Inidu
(B) Aakaaru Alavitti Thaayinung Ketillai
Pokaaru Akalaak Katai
(C) Kettinum Untor Urudhi Kilagnarai
Neetti Alappadhor Kol
(D) Ulluvathu Ellam Uyarvallal Matradhu
Thallinum Thallamai Neerthu
(E) Answer not known
FELD&H&ETEvID QUTHEBSGSGTIW HHHGSGmener Qe QFuis
A srflwmselGen wwerm Qeumn Qumaens L Quiflw srflukigseflGey
(WLweTm G mevedl emLeug FmLiL]

www.vetriias.com 9884421666/9884432666 4



http://www.vetriias.com/

(A) smer (WPUWGEVUIS DLTeflev Wimemeor
NeopgsGaley gfhgey @) 6ol
(B) @usmm giemalll g Smullenmnb G&L9.606m6V
CUMHMTM S|&HVTH &6
(C) GaLIgsID 2 6oTCLTT 2 M) F)60)6TEH 60T
By emLILCSHTT G856V
(D) 2_6TEem6u 6&6V6VITID 2_WIF66TETeV LDMMSI
satefleb Seermenio HIs g
(E) allemL s flwelevemey (CCSIP/22)

13. Nadaakondro! Kadaakondro!!
avazhi nallai vazhiya nilanae!
Whose character plays an important role in the shaping of the world Emancipation in

Purananuru?
(A) Women (Pendir) (B) Men (Aadavar)
(C) King (Arasar) (D) Priest (Anthanar)

(E) Answer not known

"BITLTQ&TTCMIT &HITL TG & MeoTGmIT

j6uaudl mevemev aumdlul mlevGeor”

GUMHSGTEID LMBTOrHMIL LUTL 268 GUWUTLIQmEG wWrflear eWwoHsHsHamns
QLI WM Fa MG 6OTMSI?

(A) QuietoTIq I7 (B) opL6ufy
(C) op&y (D) oibg 6oty
(E) allemL s flwelevemev (CCSIP/22)

14. Which Festival was celebrated throughout Tamilaham during the Sangam Age?
(A) Adippooram (B) Onam
(C) Navarathiri (D) Thiruvathirai
(E) Answer not known
FHIS HMTVEH 6 SLOLNGELD (NWIFHIVID Q& MeooT LML LI L LI6oTI) 608 6TSI?

(A) @ ULTLD (B) geeorLd
(O) paugms & (D) GaurdHenn
(E) allemL s flwelevemey (CCSIP/22)

15. Find the common ratio for the geometric sequence 0.15, 0.015, 0.0015, ...
(A)oa (B) 0.01 (C) 0.001 (D)1
(E) Answer not known
0.15, 0.015, 0.0015, ...6T6d0TM QLIHHSGSG QS TLFauflengFuier QUTEHeNGH SO &Merorss
(A)o.a (B) o.01 (C) 0.001 (D)1
(E) ellemL s flwelevemev (CCSIP/22)
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16. Find the sum of 12 + 22 + .... + 192
(A) 2500 (B) 2400 (C) 2470 (D) 2570
(E) Answer not known
G (hH6L SHITEOOTS 12 + 22 + ... + 192
(A) 2500 (B) 2400 (C) 2470 (D) 2570
(E) allemL s flwelevemev (CCSIP/22)

17. If the HCF of x4 + 3x3 + 5x2 + 26X + 56 and x4 + 2x3 — 4x2 — X + 28 is X2 + 5% + 7. Then their
LCM is
(A) (x2+2x + 8) (x4 + 2x3 — 4x2 — X + 28)
(B) (x2 + 2x — 8) (x4 + 2x3 — 4x2 — X + 28)
O (xz2—2x+ 8) (x4 + 2x3 — 4x2 —x + 28)
(D) (x2 —2x — 8) (x4 + 2x3 — 4x2 — X + 28)
(E) Answer not known
X4 + 3X3 + 5X2 + 26X + 56 L0MMILD X4 + 2X3 — 4X2 — X + 28 6T60Tm LIV MIL1L|8 G&Tetr6U S 61Tl 60T
S.QUIT.6U X2 + 5X + 7 eTevt 16V 2jeumnledr LS.QILIT.L0-60T LOGLIL] G LD.
(A) (x2+2x + 8) (x4 + 2x3 — 4x2 — X + 28)
(B) (x2 + 2x — 8) (x4 + 2x3 — 4x2 — X + 28)
O (xz2—2x+ 8) (x4 + 2x3 — 4x2— X + 28)
(D) (x2 — 2x — 8) (x4 + 2x3 — 4x2 — X + 28)
(E) ellemL s flwelevemey (CCSIP/22)

18. Which one of the following is a pair of co-primes?
(A) (16, 62) (B) (18, 25) (C) (21, 35) (D) (23, 92)
(E) Answer not known
LY 6dTeU (H6U6OTOUMMIET 6THS 62(H GFITLY. 6TEOOTSH6T FITITLIGIT 6T600TSH6IT?
(A) (16, 62) (B) (18, 25) (O (21, 35) (D) (23, 92)
(E) ellemL s flwelevemey (CCSIP/22)

19. Indian economy is marked by the existence of
(i) Low per capita income
(ii)) High proportion of the working population is engaged in industries
(iii) Improving rate of capital formation
(iv) Problems in the employment
(A) (i) and (ii) are correct (B) (i) and (iii) are correct
(C) (i1) and (iii) are correct (D) (ii) and (iv) are correct
(E) Answer not known
@BHWILI QUITIHETTSTTLD @) 56T epevld GM&&LILGRMmS
(i) GBS HEVIT QIIHLOTETLD
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(i) 2 eWP&HELW ESET H & RS5E5H 60 Qs5TLEIMFTma&E6 60 FHLL (R 6TeTemLn
(iil)) CULUMBSSLILLL NV 2 (HeUMHSE G &I
(iv) Geuemev eumuILILNeL P& SH6LSH6T

(A) (1) moud (i1) Fflwmeremeu (B) (1) wmouid (iii) Frflwmeremeu
(C) (i) wmomitd (iil) Fflwmeremeu (D) (i1) nmmid (iv) siflumereneu
(E) allemL s flwelevemev (CCSIP/22)

20. Which of the following statement(s) correct about Madras Native Association?
(i) The first political organisation started in India
(ii)) The Madras Native Association began to function on 1852
(iii)) The founder of the Madras Native Association was G. Lakshminarasu Chetty
(iv) The leader of the Madras Native Association was Anandha Charlu
(A) (iii) only (B) (1) and (ii) only
(O) (ii) and (iii) only (D) (ii) and (iv) only
(E) Answer not known
FBLDHHETL UTEHSWBIG6TIL QLgmev GBhLIgel ACFTRCWaqeT LMl &ifluwmeor
QMGG WLIBIG TS CSHTHG S M) & 86D
(1) @bpsHwmaley orwllésLiLLL (NSMag SITFWE FMTHS 6oLl
(1) @& 185210 L600T(H (NGH6EL QFWIVLIL QST HISH WS
(iil)) QL gmev GBL 196l CFTRCWag6vileT BlmeueTd &3). vaq OB Ie QaqL g
(iv) QuLgmev GBL 196 CFTRCUIAYE0I6T Senevall SIeTHSTE FTTa

(A) (iii) L @WD (B) (i) ommitd (ii) b
(C) (i) wmoitd (iii) LLEIWD (D) (ii) oo (iv) L @D
(E) allemL s flwelevemey (CCSIP/22)
21. The tropical cyclone winds blow into the Northern Hemisphere in direction
(A) Clockwise (B) Straight
(C) Anticlockwise (D) Circular

(E) Answer not known
QLSS MmI&HECHETEH 6 gmLBGL aueflineorev CLBHHG S&HLMEFR 6ThHs Hengulen

STHMI GLpeuILDd

(A) s19&TrE FmHmI (B) Gmomas

(C) 1B THIQ&HTTE GrH M (D) eulLIomss

(E) allemL s flwelevemey (CCSIP/22)

22, Assignment of ecological or biological significance of a contaminant’s effect based primarily
on statements of statistical significance but contrary to biological probability
(A) Malthusian theory (B) Median effective concentration
(C) Maulstick incongruity (D) Maximum likelihood estimation
(E) Answer not known
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2 UNlwWey BIBLEHES WTMTH, WSHETWWTS Lataflelelr (&SR USG5 6 s 5 6o

M &60)5:5H6M6IT 3IQ LILIDL UIMTSHS Q&Te0TL 6(H LDME&HLITL Q60T allemeTelledr & mmig @ L6y
3Veugl 2 Wl WER WS SI0HMS 62518 S 560

(A) nmevaTFR Wwer GamLum@)
(C) mevIg 8 QUIMTIH S S LAl60T6mL0
(E) eflevL Qs flueievemney

23. Arange in chronological order
1. Nehru Report
3. Simon Commission
A)1,2,3,4
©3,1,2,4
(E) Answer not known
smevalflenaliLig 0 &ESH
1. GH(IH AM&en5
3. MEFLDET &G (WD
A)1,2,3,4
©3,1,2,4
(E) allemL s flwelevemey

(B) spmaf]l uwspeteT Q&Fnley
(D) 919 &L 5FMT65HWES M S LILTH
(CCSIP/22)

2. Poona Pact

4. Cripps Mission
(B)3,2,4,1
(D)2,1,4,3

2. LL6OTIT pL1LIB&SLD
4. Bfluey W
(B)3,2,4,1
(D)2,1,4,3
(CCSIP/22)

24. Which one of the following is not correctly matched?

(A) Arif Qandhari -
(B) Nizamuddhin Ahmad -
(C) Abdul Qadir Badaoni =
(D) Muhammad Khan -
(E) Answer not known

Tarikh-i-Akbari
Tabagqat-i-Akbari
Muntakhab-ut-Tawarikh
Khulasat Tawarikh

FELpeU[HeUeTTaIM MG 6TeM6I HRUMTSH @) 6060075 & L1LIL(H6TermeoT?

(A) &l GHsT -
(B) plemwger oi&038) -
(C) oil1g16b HMST LGS 66l -
(D) Wp&08I Smeor -
(E) allemL s flwelevemev

&iflé-@)-osuil
BUSG-@)-216U
WhHsHL-2 L -5aumiflé
GVnEs Haumifls
(CCSIP/22)

25. Consider the following statement and find the incorrect answer:

1. The constitution imposes limits to President to give assent to the bill passed by the state

legislature

2. The President may refer a reserved bill to the Supreme Court, under Article 143 for

discussion

3. The power of the President assent to the bill passed by the State Legislature and

Parliament are the same
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4. The President cannot keep a bill of the Parliament pending at his hands for an indefinite
period of time

(A) 1 and 4 only incorrect (B) 1 and 3 only incorrect

(C) 2 and 3 only incorrect (D) 3 and 4 only incorrect

(E) Answer not known

FELDE 5600 oMM GED6MTE &([HSHELD, HEUMITET For D MIGHEMEITE 856007 L M U6 LD

1. FLLWeaTMD QUMM CFMHTE &G GIQUITEH Hemeal] STl UL G 6M&Femels
ST ATRWeevemnDLILF FLLLD @1J 6T6LemeVen L 660U MIS S U] 6Terg)

2. FlL 2 Ml 143-67 S QWIS Sevall BIMGH alss HeHE&GI0n CFTsT LM
2 FFHHOTMSH LD 9CVTHFEHEITID

3. UMIMEHLETMmD IMmID FL L DeTMmHIG6T @ummiw CFMST S G TS SHemeval
@CT LTS FlWImeT JFP&MTTHMS GG 60T 9.(HEHMITH

4. UMpmEpLeTm @QuwmMlw WLEFMHTESHT & GQWIFH SHenevel], &ITeV
eI enmUIeTm pLIL|S6V SITLN6 606UST (HEHS (LOLULIMTSI

(A) 1 mmib 4 LWL (HILD Heum (B) 1 opmib 3 L (HILD SHeumi
(C) 2 bOOID 3 LG Heuy (D) 3 bpmid 4 LLGILD Seum
(E) allemL s flwelevemey (CCSIP/22)

26. Which of the following is incorrectly matched?

1. Article 361 - The President enjoys protection from criminal proceedings
against him in court of law

2. Article 352 - National emergency

3. Article 356 - President Rule in State

4. Article 360 - Finance commission

(A) 1 only (B) 3 only

(C) 1,2 and 3 only (D) 4 only

(E) Answer not known

LD 6V ([HEUETEUMMIET 6THI HEUMMTSH QUTIHSSLILIL (H6Tergl?

1. 0455l 361 - BHETMSS 6L Gl WITES &606V6U([HES 6T [ Teor
GOmeliey BLAIG&EMSHEHL @HE UMSISTLemLL

QUMIBMITH
2. 609058 352 - CHFW QBHSHSH&Me L& LeoTLD
3. 9058l 356 - DIBlVSSH 6 GUWTEHS Seneval] oL &)
4. 4753 360 - B <L,606007 WD
(A) 1 (b (B) 3 (b
(©) 1,2 MMID 3 LLGHILD (D) 4 nL (b
(E) allemL s flwelevemey (CCSIP/22)

27, Consider the statement of the Judicial power of the Governors of the States
Choose the correct answer from the option given below
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Assertion [A] : The power of granting pardon under article 161 is very wide and do not
contain any limitation

Reason [R] : Judicial review is possible, when he/she on the ground of non-application
of mind and non-consideration of relevant material and suffers from
arbitrariness.

(A) [A]istrue [R] is false

(B) [R]is true [A] is false

(C) Both [A] and [R] are true; but [R] is not correct explanation of [A]

(D) Both [A] and [R] are true; but [R] is the correct explanation of [A]

(E) Answer not known

OMBlev 2b@BB 6T "B LD6TNH AP GTTID" GMS SIS BLOESHETL. FaMeNME &([HS!I5.

alGLUS sflelley @ambg siflwmer ellemLenulsd CHTHA S H & LD

Fammi [A] ! eiTeflliL 9yefle@&@h SH&TID 161-6ug FLUL 2 milifler &ip, &sea|n
allifleumens, o1& 6THS 6TeVEM6EVEM LD @\ &5T60oT L. (IH & &5 61 6L 60 6V

&rgeord [R] ' oeuGenm/oeuGrm, Sinjlemel (TG QFNSDH) T TWTES QUTWSID, 2 iflul
BLOLSLOMET SyaleorhisemneTll UflEel&asns QUTWSID <S5SI0mIn
2 GOOTI6Y &G L LILIQHE G CUITS B LIL|60or T MUl 6T60TLISI
FISHFHWLDMTETSMGLD

(A) [A]l &l [R]peuay

(B) [R] &l [A] Beuay

(©) [A] eyid [R] eyl &1fl @peormev [R] eteorig! [A] -0&& & Fiflumer aflemé:&I0M&H TSI

(D) [A] eyid [R] @pevor(hitd &ifl; [R] eteorigl [A] -6& & siflwimer ellengaI0mM@ LD

(E) allemL s flwelevemey (CCSIP/22)

28. Match the List I with List IT:

List I List IT

(Hydrated Salt) (Uses)

(a) FeSO, . 7H.O 1. Textile Industry

(b) Na.COs . 10H-0 2. Laboratory Reagent

(c) CuSO, .5H.0 3. Making of Mohr’s Salt
(d) ZnSO, . 7H.O 4. Fungicide

(e) BaCl, . 2H.0O 5. Manufacture of Glass
uCguwev I emw Ll iguwev IT 2 L 6T QUTHS S5

LLCiguiev I U iguiev IT

BCrmlw 2 L) (LI 60T &5 61T)

(a) FeSO, . 7H,O 1. gaj6flg Qs mdleL

(b) Na.CO; . 10H-O 2. 9L UI61&E &ITIJ600r]

(c) CuSO, .5H.0 3. GmFe 2 145 sWmiflgsev
(d) ZnSO, . 7H.O 4. U,@Hem &8 Q& meL6d

(e) BaCl, . 2H.O 5. &600T600T ML & W& &6V
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@ ® @ @ @

A 5 3 4 1 2
(B) 4 5 3 1 2
©) 3 5 4 1 2
(D) 5 4 1 3 2
(E) allemL s flwelevemey (CCSIP/22)

29. Operation London Bridge is the
(A) Funeral Plan for Queen Elizabeth I1
(B) Process of selecting the Prime Minister of UK
(C) Joint Military exercises of NATO countries
(D) Evacuations due to Russia-Ukraine War
(E) Answer not known
6V6D0T L_60T LIMEVLD [FL_6UL &60) 8> 6T60T LIS
(A) warymeoo] @ Fevor_ D 6Ted&FQLSSH 60T @ MmIS) 26eTF6aI6V Hl5LD6)| & 6T
(B) UK Ygsw whHflenwl CaHIHASMLILSMSHTET Q& L6V (LN 6nMm
(C) NATO B serflev dal (B @rmesore LUNHE
(D) gaqui-2_genger GUMflerr GUMEI QauerflGuwmmey
(E) allemL s flwelevemey (CCSIP/22)

30. Which of the following is/are true about Doppler effect?
1. Doppler effect in light is symmetric
2. Doppler effect in sound is symmetric
3. Doppler effect in light is asymmetric
4. Doppler effect in sound is asymmetric
(A) 1 and 2 are correct (B) 1 and 4 are correct
(C) 3 and 4 are correct (D) 2 and 3 are correct
(E) Answer not known
Lrlieny ellemeremaill QUMTHSH S BLDEH ST FoMMIGEH6T 6Ten6l &l WITeTen6l?
1. eerfluflev Lliemy ellemere] &FLngEymerg)
2. edluflev LITlier eflemerne] FEETMeorgl
3. eerflulley LTliemy ellemere] FLD&FETHMSI
4. @69uiley Lrliery ellemere] SFDEEFHMSI

(A) 1 iommild 2 siflwimeTenel (B) 1 mmmild 4 srflwimereneu
(C) 3 nmmild 4 FrflwimeTeneu (D) 2 npmith 3 Fiflwimesremel
(E) ellemL s flwelevemev (CCSIP/22)

31. Match the following and select the correct answer
(a) Nayak Committee 1. Unorganised sector
(b) Tarapore Committee 2. Centre-state relations
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32.

(c) Rajamannar Committee 3. Availability of Credit to SSI

(d) Arjun Sen Gupta Committee 4. Capital Account Convertibility

FELpemLIeTEUMEmNM QUMTHSSH Fiflwimer ellemLenwis CHFel Q&Fulss

(a) BTw& G 1. QeMOLIL| FTIIT Slemm

(b) sMUTLT GW 2. DSGW-MBleL QBTLTL

(c) @UTLDETETITT (& (WD 3. AW sjaTe] QSTLEIMFTENEVEEHE G &L 60T

FemLLILIZI

(d) SITZOGTAFET GLST GLP 4. LPEVGEUT &EU0TE S LOMHMIS S edT
@ Mm @ @

A) 4 3 2 1

(B) 1 2 4 3

< 3 4 2 1

(D) 3 2 1 4

(E) allemL s flwealevemey (CCSIP/22)

Which among the following statements is/are best explaining the objective of “Ennum
Ezhuthum Scheme”?
I.  The scheme is launched to help the children make up the loss of learning due to corona
pandemic
II.  The scheme is launched with the purpose of education for all
ITII. The scheme is launched with noble objective of fastening equality in society
IV. The scheme is launched with the aim that all children below 8 years of age should be
able to read, write and know numerals by 2025
(A) I only (B) I, IT'and III only
(CO) II and IV only (D) I and IV only
(E) Answer not known
"6TEOOTEI LD TS SID" B L SFH 6T GHMTESHMBIGHM6T LITaU(BLD SnMMmIGeTe e71& FmUILITS
aNens: &R MmSI?
1. Q&MEImerT QUBHOSTHM &HTuEH 6 gLl L MMV GmmUTH&a6T FflQsuiul
GPHMNSHEHEHEHG 256D eU6UT600TD @ SHFH L LD QSMTLRISILLL S
S|METAU([HE LD G606l 6TedTM CHMTESHSSIL 6T @SFH LD QSTLHBISGLILLLGI
FLDG S0 FENEHSMS aU6eTIHGWD 2 Wil CHTEHER 6 @FHF L LID QSTLRSLILLL S
4. 20253810 LE0OTIIMEG6T 8 AUWSHHGSLLULL MTHS GSLPHMSHEHLD TS, LI&HS
DMMID 6T600TSHEMET AMIBHSHUTSHETTEH MMM T60Tm CBHMHHESSL 6T @&HFL L LD

QSMTLMIGLILILL &I
(A) I Ll @Gb (B) L, II omaith IIT 1oL @itd
(C©) IT opoid IV oG (D) I iomoih IV il
(E) allemL s flwelevemey (CCSIP/22)
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33. Assertion (A) :Indian Government has taken up economic programmes for benefit of SCs

and STs

Reason (R) : Provided small loans for the poorer section to help them to earn money
through some secondary sources such as toy-making, basket making,
agarbatti and beedi-rolling, tailoring, shoe-making etc

(A) [A]is true but [R] is false

(B) Both [A] and [R] is true and [R] is the correct explanation of [A]

(C) [A]is false but [R] is true

(D) Both [A] and [R] is true but [R] is not the correct explanation of [A]

(E) Answer not known

Famml (A) ! @HH W STFMMHIGLD QUTHETTSTTD FTIHES S MHIG606Ts
STPSSLILLL IDMHMILD DEMEVAITLD @)60T ID&HS&H6T LILETALMID 6le0&uUilev
QEFWLLRS SR M
&myeoortd (R) : QUTDEND QFUIHEY, Faedl (NS, HSHFTLUSS WHmid LT & mHmgev,
Sleo0fl g & UIeVELD, SMeventil WM& e CLImeTm §lmi
QETPHLHEDHGEH HL6OT QHBTHLILIGET CLNEID gemLD LNGE6T &l60)600T
QUBHLOIMETD QLM J& 2 56 QFLISH M
(A) samor [A] 51l @uetTeL &Mevorid [R] seumi
(B) sammi [A] nmmild smyevorid [R] @pevorGd &ifl smyevorid [R] gwmomi [A] &s&smeor
Frflwmer alemTg&MELD.

(O) eapmi[A] seua smgevorid [R] &)

(D) sammi [A] nmmild smryevorid [R] @pevor(d &ifl ssmyevorid [R] gwmoi [A] &sasmeor
Frflwmer aflemg&Ln606v.

(E) allemL s flwelevemev (CCSIP/22)

34. The objectives of the District Mental Health Programme are
1. To provide mental health services including prevention, promotion and long term care
at District health care delivery system
2. To augment institutional capacity in terms of infrastructure, equipment and human
resource for mental health care
3. Facilitating the mental health services at doorstep
4. To promote community awareness and participation in the delivery of mental health

services
(A) 1, 2, 3 only (B) 2, 3, 4 only
(C) 1, 2,4 only (D) 1, 3, 4 only

(E) Answer not known

OTeUL_ L LD6THEVS FL_L&H) 60T & M8G5 T6TEs 61T ITeU 60T

1. eIl L &&TeTrL umssmliL elpléuwns emlililey SO UIL, ugell 2 wiie] nmmilh
BevorL ssmev LITmflLL] 2 6TerflL L 06T hevE GF 60161 & 60 6T 6)LD MBI S 60
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35-

36.

37

2. LDGETHEVLI LIMSIGTLILSEHTET 2 6T&HLLenlnliL], 2 LIGTeooThISG6T MM 0eflg aleTLd
AR Weumer g LiLienL_ullev Blmicuerr Hmener P &8585 60

3. afHGHTMILD LDETHEV GF6UGHEMET 6T6r 15T (& 556V

4. Fewps bliLeorTenel 2616GaSH0 DMMID  LDETH &&HTHTT CTFene6ldemneT
QIPMHIGaIH 6L LIBIGHMMEL

(A)1,2,3 LG (B) 2,3, 4 DG
(©)1,2,4 LGOI (D) 1,3,4 wLLGHID
(E) allemL s flwelevemey (CCSIP/22)

Which of these actions cannot lead to Truth-Consciousness?

(A) Porul Allavatrai Porul Endru Unarthal

(B) Saarbu Unarndhu Saarbu Keda Ozhugal

(C) Aiyathin Neengi Thelithal

(D) Sirappu ennum semporul Kaanpadhu

(E) Answer not known

G LD 855 T600T LIGUMMIET 6T GILOUIUL|600T T8 6V &8 60T Q& WLIeVLIMT(H) @)6V6m6V?
(A) QUITIHET 6LEVEUMEMMLI GILITHEIT 6TETMI 2_600T [ &6V

(B) &My 2 emTIb&! FMIL Q&L R ESH6V

(C) swsHer Br&S Qgerlgsen

(D) A\mLiL eT6dTenID Q& LDGLITIHET &IT600T LIS

(E) allemL s flwelevemey (CCSIP/22)

“Vendharkku Oli” — What is the meaning propounded in this Thirukkural?
(1) Kodai (Donation)

(ii) Ali (Kindness)

(iii) Protective Sceptre (Sengol Kudiyombal)

(A) (@) only (B) (1), (iii) only

(C) (@), (ii) only (D) (i), (ii) and (iii)

(E) Answer not known

"CaubSE 5@ eeflumagl” eTeTm &)(H&HEGMET 6156M60TS Jn MIG 60T MSI?

(i) Qs&smenL

(i) el

(iil) QFmIGsHT GI1QGWITDLIGY

(A) (i) @b (B) (), (iii) oL (b

(O (D), (i1) L@ (D) (1), (i) o oid (iii)

(E) allemL s flwelevemey (CCSIP/22)

Who speaks the following lines in Barathiyar’s “Panchali Sabadham”?
“Tharumathin Vazhvudhanai Soodhu Kavvum;
Tharumam Marubadi Vellum”.
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(A) Panchali (B) Kannan

(C) Arjunan (D) Tharuman

(E) Answer not known

"SBLOSH 6T QUITLDEFEDETE @GSl G616 LD;

S(HLOLD LOMILILG GleUeVevILn”

-umySwrifler UmehaFmed FLSSH 60 @) &emeTd QFmevLlaul Wmr?

(A) urmepsmed (B) 5s6v0T60OTEOT
(C) oyy& g eoreit (D) s@®weir
(E) allemL s flwelevemey (CCSIP/22)

38. Four pictures of a cube are given below which number is on the face opposite to 3?

Ve e

(A)1 (B) 2 (&) ! (D)5

(E) Answer not known

SHEOTFSITSH 60T HTOTG UMTLILMISGET HCLY QHT(H&H&LILIL (H6TETeT. 61H& 6T600T 3 @)60T
THTLUHSHIDMSG @) (H&HS (LPLU]LD

BO0E

(A1 (B) 2 ©) 4 (D)5
(E) allemL s flwelevemey (CCSIP/22)

39. IfA:B=2:3,B:C=2:4,C:D=2:5,thenA:Disequalto
A)1:5 B)2:5 ©3:5 (D)2:15
(E) Answer not known
A:B=2:3, B:C=2:4,C:D=2:5,6efleb A: D-&@ Fonmer elH gD
(A)1:5 B)2:5 ©)3:5 (D)2:15
(E) allemL s flwelevemey (CCSIP/22)

40. The Lowest Common Multiple (LCM) of two numbers is 6 times of their Highest Common
Factor (HCF). If the HCF is 12 and one of the number is 36, then the other number is
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41.

42.

(A) 48 (B) 72 (C) 24 (D) 12

(E) Answer not known

QEMHGHILLL @@ eeusefler WFHM QuUTas WLBSRT WwHLILTag, <6aual®
6T6u0T & 61607 LSLIQLIH QLTSS &myevoflulledr 0 LienL e, 6 0L I HHIMGLD. GLogyLd
leuedl(p erevorgserfledr LSLIQLIIH QLTS &ITFevorlufledr LOGLIL] 12 LnmmID euedl(p eTevorgserfley,
62(H 6T6UOTGO0T TEOTEI 36 616016V, LDMGQMIT(H 6T600T600T 60T LN LIL |

(A) 48 (B) 72 (C) 24 (D) 12

(E) allemL s flwelevemey (CCSIP/22)

The Monetary Policy of the Government of India emphasised the following two aims of the

economic policy

1. To control and reduce inflationary pressure in the economy

2. Speed up economic development in the country to raise national income and standard of
living of the people

3. To increase the per capita income

4. tohave a cheap money policy

(A) 1 and 3 are correct (B) 1 and 2 are correct

(C) 2 and 3 are correct (D) 3 and 4 are correct

(E) Answer not known

QBSHW TFEOT LemalTHES QSTETM&HWTEIS QUITHETTSMTTES Q& TeTemn s ullesr

LedTeuLd @) T6uor(h GIBITE: &8 6m6T 6169 U] MmIS S5 6T mS

1. QUIBETTSTISH 6L Lictoreiss S(WHSHHMEE &L HILULGSSHaD GmMLUILIGSMHESLD

2. GHHAW eIBLOMETD WMMID INGS&H6TET QMNEGEME SHTHMES 2 WSS [HITL 1960
QUITBETTSTY eueTFFFemnwl ellemye)U( &5

3. S6UIT QUBLOTETHMS H & H6H

4. WSyl QLTS &TETeN &HE 8T8

(A) 1 inmmid 3 FiflwimeTemeu (B) 1 nmmild 2 sFrflwimeoremeu
(C) 2 oMb 3 FiflwimeTemel (D) 3 nmmiib 4 Fiflwimesremne
(E) allemL s flwelevemev (CCSIP/22)

“British rule was established in India with the cooperation of Indians, and had survived only
because of this co-operation. If Indians refused to co-operate, British rule in India would
collapse with in a year and Swaraj would come,” who said this?

(A) Sardar Vallabhai Patel (B) Motilal Nehru

(C) Mahatma Gandhiji (D) Bal Gangadhar Tilak

(E) Answer not known

"QBBWTHET  @&HSMPLICUTH  wHHCuwleadr ol & BloelulLg. @b
@&53lemplilermey SMeaT @B WL F LHNpSSI0&ETETIQBERMS. GhHS WITE6T
REIHOPHSH IDMISHT, @BHFHWmelled mHCWler Gl & @ aUBLEHO aflbbhsl
FWITRIWLD LD6VHLD" eT6oTM a6 WITF?
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43.

44.

45.

(A) 75T eueveLLIMU LILGL6V (B) Guom®eumey GH(H
(C) &M &THH e (D) uMeL BHIGTHT HLaT
(E) allemL s flwelevemev (CCSIP/22)

In 1944, the Government of India setup a planning department under the Chairmanship of

(A) S.N. Agarwal (B) M.N. Roy

(C) Dr. John Mathai (D) Sir Ardesir Dalal

(E) Answer not known

1044-60 @QBHHW FFMMHIGLD semevenloulledr S @ HLLE Slemmenul
gOHLUGSH WS

(A) 6T610.6T60T. | 5[T6EUMTEV (B) eTLD.6T60T. FITUL

(C) Dr. ggrmeor LOMS T (D) &5. 917 CHAT S6VIT6V

(E) allemL s flwelevemev (CCSIP/22)

Acid rains are produced by

(A) Excess NO: and SO. from burning fossil fuels

(B) Excess production of NH3 by industry and coal gas

(C) Excess release of carbon monoxide by incomplete combustion

(D) Excess formation of CO. by combustion and animal respiration

(E) Answer not known

|6V LDEMLD 6THEOTITEL 2_(HeUTH MS!

(A) g eriflQuUmEemer eTflILISTEL Qederfleuhid G & LLIg uimer NOo inmmith SO2 epeuld

(B) 1@ suqwimenr (NH;) 2 muUSSH) (nmmitd LIQLD Bleus sl eumu] epeuln

(C) @B &L UITET SITFLGT GMeTTHenF () (W(WeLWITS 6Tfl&aLILLTINN @ULILS

(D) 1@ sLuIgumeT LwetUmLmm siflwidlevelmu mmih eNeVBIGR 6T SallTE (L0 M &6
eLp6ULD

(E) allemL s flwelevemey (CCSIP/22)

Why is the Himalayan region poor in mineral resources?

(A) Displacement of rock strata has disturbed the arrangement of rocks and
made it complex

(B) It is made up of crystalline rock

(C) The terrain makes exploitation of minerals diffilcult

(D) The climatic conditions are not suitable for exploitation of minerals

(E) Answer not known

@LWILNEM6VL LIGH S6rflev S60flln 6U6ITHISH6T 6760T (H6MMEUTSH _6TET60T?

(A) umemm B &GSl QLLUQUWIFSR UTmmseafladr emlienlsd FIGemeus sl
MG FlE&5H6eVMESR UL 6TeTS)

(B) @& L19.&L1 LITenmUITeV OL,60TSI

(C) mlevLILLIL] SeofllomiIG6T 6T(HILILIENS &1Q60TL0 TS &R M S
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46.

47.

48.

49.

(D) s UQeaIl1LBlem6y &H6vflnmIG6T T(HLILIGSME MME 606V
(E) allemL s flwelevemey (CCSIP/22)

In A.D. 1894, the Kashi Nagri Pracharini Sabha was founded in

(A) Delhi (B) Bombay

(C) Madras (D) Calcutta

(E) Answer not known

&.19. 1894@ 60 &m& B&IK] ygamiflet] sum 6L BloeulILIL L&)
(A) QL6ved (B) ubumul

(C) QuoL_igmenv (D) m6v8555T

(E) allemL s flwelevemey (CCSIP/22)

Who was the first person to place the demand for a separate Muslim state in British India?
(A) Mohammad Iqbal (B) Muhammad Ali Jinnah

(C) Rahmat Ali (D) Mountbatten

(E) Answer not known

AL geq @bEHwmeley, (n&eT (N&6dl6y, (LNeVeSIDSEhE& s TeT &eofl HTH Camifléemseml
(LPEOTEIEUE HEUIT WITF?

(A) &G @& LTV (B) wp&1D10 81 3169 &) 6dTevT T
(C) paing o169 (D) weyevorL_ GLIL_L6dT
(E) allemL s flwelevemev (CCSIP/22)

Why Ulama’s had great influence in Muslim society, politics, administration and religion?
(A) They were in great numbers during the Delhi Sultanate
(B) Due to their holy living and high thinking
(C) They were well-versed in Muslim theology and Figh
(D) They controlled trade and industry
(E) Answer not known
WeveSlh Fepsd, THWe BIFaIMHID WMHMID WSD WHWaIMHMIL 2 6VINMES6T 66T
QU(BLD QFMTHGE QFIS S 6T GH6T?
(A) S16F&H6T QL6060 Sr6LSMTETESH L P& 6TevoT600 186015 UN6V @) (HIH G 60T
(B) ojeuisserfletr Lieofls aUMp&Hems LDMHMILD 2 WITHES &FHSHe060T SITJ6e00TLNMTE
(C) sjauisaT (WeveSid @emnmuilwiey IMHMID &L986 & WeiM M6 HeTE CHITFH
QUM BIHS 60T
(D) ojeuis6T aifs5 6 mmib QST S enmenls &L BHILILG S5 6T
(E) ellemL s flwelevemev (CCSIP/22)

Which of the following statements is/are not true about the ‘governor’?
(A) He appoints the Advocate General of a State
(B) He appoints the chancellor of Universities in the State
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50.

51.

52.

(C) He appoints the Chief Minister

(D) He appoints the state Election Commissioner

(E) Answer not known

"LOMBI6V QLEBHBT" LM GLDE 85600TL 61 ITE G W MBI 66V 6T51/6T6m6 H61MITETSI?
(A) irmlev Hemevenin auP&EEHMIEemT BlWL&ESH T

(B) inrmlevll LiIsu&Hemev &Lp&mIG6T 6T Gaulbgen T BIWL&R Ty

(©) wsvemEsa T BlWER T

(D) nmmlev Cs08560 Hs&miflenw BIWLASSRMTF

(E) allemL s flwelevemey (CCSIP/22)

Which one of the following statement(s) is not correct about the Indus Valley People?

(i) The Indus Valley People worshipped trees and animals

(i) The principal deity of Indus Valley People was Krishna

(iii)) The Indus Valley People worshipped fire and water

(iv) The principal deity of Indus Valley People was mother goddess

(A) (i) and (iii) only (B) (ii) only

(C) () and (ii) only (D) (ii) and (iii) only

(E) Answer not known

BLD& 60T eUMMIET FHS L0GHHMETL LIMMIL SHeUMITET FoMMIG6T 6TS5I/6T60I16U?
() psGeef ID&SEET IDFLD MMILD l6VEIE 8 6Ts &L 66T TdH eUdILIL L 6T
(1) SpsGeuel W&sETl6T WNEHESRUIS SL 66T & ([H 616007 [T

(i) S hseelef &SHET QBIBLIL LDMMID BT &L6|6Tms eulblLIL LT
(v) Spseealefl In&s6 6T NEHERUIS SL66T 6L 6\& U6 MBS 6T

(A) () woomub (iii) WL @D (B) (ii) oL @b
(©) (@) wmob (1) L GLb (D) (ii) Mot (iii) L GW
(E) allemL s flwelevemey (CCSIP/22)

The enzyme involved in unwinding of DNA is

(A) Telomerase (B) Helicase

(C) Polymerase (D) Ligase

(E) Answer not known

DNA-emeu @ 7eoor(h) @emp&enmss LNFflLLSGev FRUGLD QBTSH Wms?

(A) QLGeumnGyeiv (B) @amedGasen
(C) umel @ Cryeiv (D) e9G@&61v
(E) ellemL s flwelevemev (CCSIP/22)

The first step in the seed germination is imbibition of water which induce the
(A) Stimulation of plumule

(B) Breaking dormancy

(C) Growth of radicle
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53.

54-

(D) Resumes metabolic activities

(E) Answer not known

alemsd WamaTEE56T (NS Bleoewwns BT 2 MeFliu@n CUTs, @& a5
SneoT Q& ma?

(A) et GHSS! SreoL LGS DS

(B) ellems 2_m&&1D e LGSR M

(C) allemsBaul aueTIHIMSI

(D) Q&F6L @GS SlaUBIGRMS

(E) allemL s flwelevemey (CCSIP/22)

Which of the following statement is/are correct NANOBOTS are:

1. Robots that carry out a very specific function at nano scale level

2. They can be injected into blood stream

3. They can be used to measure toxic elements in the environment

4. They are very cheap to produce

(A)1,2and 4 (B)1,3and 4

(CO)1,2and 3 (D)1,2,3and 4

(E) Answer not known

G & 5 mevor LI MmieT e1gl/eTemed Eflimet gammi NANOBOTS’ mrGeor Tl 6Teor LILI(Hl6) &l
1. @ GMILLILL Lenoflemwl Q&L 2 G b BTGeTmLSL LT oemallevmer GrmEGLUIT oL@
2. @aMmenm @QUSS HTeTHISG6) 2 I 1L|@&SH60TD

3. @aIMemm &MHMIF LNV 2 6T6T HEFSL1 QLITIHL &HemeT jeTelll L6 LR &6V

4. @eumenm 2 MLSH QFUlag L08 nedelTears)

(A) 1, 2 DODILD 4 (B) 1, 3 nhmilb 4
(O) 1,2 HmIbH 3 (D) 1, 2, 3 HMID 4
(E) allemL s flwelevemev (CCSIP/22)

Read the list given below carefully of dignitaries and find out among them the correct
hierarchical order with respect to their rank and precedence

(i)  Chief Election Commissioner of India

(ii) Cabinet Secretary

(iii) Chief of Army Staff

(iv) Deputy Speaker, Lok Sabha

(A) (iv), (iii), (i) and (ii) (B) (iv), (iii), (ii) and (i)

(©O) (1), (iv), (i1), and (iii) (D) (1), (iii), (iv) and (i)

(E) Answer not known

FEC QHTH&&LILIL(G6TeT 2 Wi Lgell 9aaleuFaserfler LIL1QUIeneud SelentS5 S o6 Tos6T
ugellufler 9ilg LliemLullevment (weore_iflemioll Llg Blemevl] LILLWLIem6vd: & e6vorL N5

() QBHW SN CHTEE 26016001 WIT

(il) WLSEHW SMDEFFTOUF QEFWV]T
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55-

56.

(i) semevenin @rmemial & smifl
(iv) D&SHETEMEU SI60)600TS &H60I6VEUIT

(A) (iv), (iii), (i) womid (ii) (B) (iv), (iii), (i1) wmmid (i)
(©) (O, (iv), (i) wooud (iii) (D) (1), (iii), (iv) womitd (ii)
(E) allemL s flwelevemey (CCSIP/22)

Which is the international coalition of solar-resource rich countries that are collectively
addressing common challenges on solar-energy applications?

(A) International Solar Energy Society (ISES)

(B) International Solar Alliance (ISA)

(C) International Renewable Energy Agency (IRENA)

(D) International Energy Agency (IEA)

(E) Answer not known

&Gl Smmey LUWeTUTRH&E) QUITSHIEUTS 2 6T6m FauMeusGamneT SILiLg GMl&s!
Fal LTS allaumH&s 2 Heumer — Gl euerd W&GHS BT &6rler Snl LemnlnLiL] 6TSI?

(A) s7aCss Gl swmmey Fensib (ISES)

(B) 76uCs5 G&GIfl 565 ol Levofl (ISA)

(©) siauCsa UsIlIN6656588 MM (o (IRENA)

(D) sreuCses oummev n&Henin (IEA)

(E) allemL s flwelevemey (CCSIP/22)

Match the winner of medal in common wealth games 2022 with their sport

Player Sport

(a) Sharat Kamal 1. Boxing

(b) Lakshya Sen 2. Weight lifting
(¢) Mirabai chanu 3. Table Tennis
(d) Nikhat Zareen 4. Badminton

ST  Qeuvs 2022 allemeTWTL Q) LSHHD  QeuaTmelTHemeT S eUF&Hergl
aflemeTwmL_(h 60T QUITIHE S5

aflemeTwim_(® eSyr aflemeTwimL_(h
(a) Gaq L. &6y 1. &SI FevoTenIL
(b) evgeSlwim Q& 6ot 2. LIEH &6 ESGH6V
(c) Sgrmumd sme 3. Gy LHS!
(d) pI&&L agifler 4. U, UBHS

@ Mm @ @
(A) 1 2 3 4
B) 3 4 2 1
© 4 2 1 3
(D) 2 3 4 1
(E) allemL s flwelevemey (CCSIP/22)
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57.

58.

59.

Match the following

(a) 1997 1. Anaithu Grama Anna Marumalarchi Thittam
(b) 1998 2. Varumun Kappom Thittam
(c) 2006 3. Samathuvapuram
(d) 2009 4. Namakku Naame Thittam
GG G600 LeUMHen ML QUITIHS S5
(a) 1997 1. SIETH G HIITLD | 60OTE00TIT LDMILDEVTEF HL_L_LD
(b) 1998 2. QUHLD N6 STLIGUITD S L LD
(c) 2006 3. FlIDGSSIQIL|TLD
(d) 2009 4. BD&E BTG S LD
@ b ©© @ @
A 3 4 2 1
(B) 4 3 2 1
© 4 1 2 3
(D) 3 1 4 2
(E) allemL s flwelevemev (CCSIP/22)

During the early resistance against the British who issued the “Tiruchirappalli Proclamation”
(A) Veerapandia Kattabomman (B) Velunachiar

(C) Maruthu Brothers (D) Puli Thevar

(E) Answer not known

ABIRCOWTHEBEG THITT UIIDLUSTY THILNer Cumas "SmERFTLL6TEH
NrsLersens” GQalefluill e

(A) efgumesoriqul &L L QLITLDLOEOT (B) Gousyl BTERWIMF

(C) L®& FCHNBI&ET (D) uells Gz eury

(E) allemL s flwelevemev (CCSIP/22)
Match the following

Name Related to

(a) Swami Sahajananda 1. Oppressed Hindus

(b) M.C. Rajah 2. Tamizhan

(c) Pandit Iyothee Thass 3. Nandanar Kalvi Kazhagam
(d) Veeresalingam 4. The Widows Home
QUTBSS&H

QuiwIy QSTLIL6emL WS

(a) Zreumd FHKQMBHST 1. gjligerv® aemler®en

(b) M.C. grregrm 2. s1olLpeoT

(c) uevoTa L CWIMSHGTFT 3. BhSHTTT Hevaild &LPoLD
(d) efGyFeiikisLD 4. allsemel @e6veuld
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60.

61.

@ ® @ @

Aa) 3 1 2 4
(B) 1 3 2 4
©) 1 2 3 4
(D) 4 1 2 3
(E) allemL s flwelevemey (CCSIP/22)

In 1921 at Erode, E.V.R. picketed toddy shop. Two women also participated in picketing. They
were the first women to be arrested for picketing toddy shops in Tamil Nadu. Who were they?
(A) Nagammaiyar and Kannammal

(B) Nagammaiyar and Moovalur Ramamirtham Ammaiyar

(C) Kannammal and Muthulakshmi Reddy

(D) Maniyammiyar and Nagammaiyar

(E) Answer not known

FGIMLIg6L 1921-1D0 ShevoT(h FF.GeU.JM SLOBITL Q60 SHeTEh&HsemL WMluiey GUIMFMLLLD
BLEHTTH. HLICUMTS @ evor(n GLIGTITSG6T eU(BL6eT CFIHS WwmMlulsy CUTITLLESSH 6
FOULLeTT. euall(p GLIGIOTSET ST  SHeTEh&H&EmL  miwey  CUITTMLL&SH 60
FOULLSMETS (NS0T (NSHN6L &Sl G &F LWL LIFTSH6T. S|6UFT&H6T WITH?

(A) BTSLWENWUWITT LDMMILD &5600T600T LDLO 6T

(B) B&shem0WITy WMHMILD eneleuTy @ TmdlF&HLD & enn WMy

(C) ss6v0T60OTLDLOMTET LDMHMILD WSSV &S QL 1q

(D) weroflWbemnDWMF LMD BTSN LOWITH

(E) allemL s flwelevemev (CCSIP/22)

Which of the following are correctly paired?

1. Nizhal Thaankalgal - Vaigunda Swamigal
2. Hindu Progressive Improvement Society - Rajaram Mohan Roy
3. Samarasa Sanmarka Sangam - Vallalar

4. Self Respect Morality - Vedanayagam Pillai
(A)1and 3 (B)1and 2

(C) 1 only (D)1,2and 4

(E) Answer not known
Flumsl QUTHSSLILLL CRMY&HmeTs CHIHE S H &6 LD

1. BILO6Y SITHIG6VSH6T - 606U (& 600T L& 6 T LA &5 61T
2. QB WMHELIMTEHEG (LeTGTMM &F MIKHLD - TTMIMD GLOM&e60TTITUI
3. FIOJEF FeOTIOMI&H S FhiIGHLD - GUGITEITEVITIT

4. swWnflumens 9jmLb - Geus BTSN LleTener
(A)10mmib 3 (B) 1 nmmiib 2

(O 1wL@d (D)1, 2 nmmih 4

(E) ellemL s flwelevemev (CCSIP/22)
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62. Choose the correct meaning for the following sentences:
1. Palakudai Neezhalum Thankudai keel Kaanbar
2. Iravaar Irapparkku Ondru Ieevar
(A) These two statements appreciates the prowess of the king
(B) These two statements appreciates the philanthropists
(C) These two statements eulogizes the farmers
(D) These two statements talks about the humble person
(E) Answer not known
FLPESHTEDIN Fo MMIG&HEHEH G QUITHSSLOMET QUITHemeTS QS5 le QFU1s%
1. LeuGenL HLosvild SHIGenLSHBLDE &MeoorLI -
2. QUM @ULILIMT&E 6260TMI FFUIT
(A) @euaiigevor(n auifl&EHLID AHTFFleT QLB GLISS) 60T M 6T
(B) @euailgeoor(h euiflas@bLD eu6TemedledT G)LI[HemL6em ULl GLIT M .m15) 60T m 60T
(C) @euailgeuor( euiflEBLD 2 paiifler QLIHemLDen WLl GLIg 5 60Tm6or
(D) @euailyevor(® euifla@EbLD LicoolleyeTemeusnfleor Licoorem LIl GLIm oI5 e6dTm 6ot
(E) allemL s flwelevemey (CCSIP/22)

63. Find out the missing value in the given figure
(A)8 (B) 64 (C) 216 (D) 25

(E) Answer not known
QE&EMTRH&SLILLL LUL&SFH6 el(BILILL 6Tevorenol160T LOGF)LI160ILI &IT600TS
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(A)8 (B) 64 (C) 216 (D) 25
(E) allemL s flwelevemey (CCSIP/22)

64. A cartravels 9o km in 2 hours 30 minutes. Then the time required to cover 210 km with the
same speed is
(A) 5 hours 50 minutes (B) 5 hours 30 minutes
(C) 5 hours 20 minutes (D) 6 hours 50 minutes
(E) Answer not known
@@ LHWHS 90 H.15 FTTHMS 2 nevot] 30 BIAIL BIGH6Tl6L &L &GLD. 9CH Calsh s H6 210
@) I LenIs &L &S L&D GHITLD

(A) 5 evof] 50 WBILAILMisseT (B) 5 wnewot] 30 BILAIL_MBigs 6T
(C) 5 wevofl 20 WBILALMHIG6T (D) 6 et 50 MG migeT
(E) ellemL s flwelevemev (CCSIP/22)

65. The radius of two right circular cylinder is in the ratio 3 : 2. The ratios of their heights is
5 : 3. Then the ratio of their C.S.A. is
A)s5:2 (B)5:3 ©)3:2 (D)2:5
(E) Answer not known
@ueor() GBI eul L 2 (peneTwiledr oprmisGefler eSS 3 : 2 67618, GOSN 26U M mleor
o2 wmkiGefler elG&GLD 5 : 3 erenflev aumMler auemerLITLIL|Serler eGS0
(A)5:2 (B)5:3 (©)3:2 (D)2:5
(E) ellemL s flwelevemev (CCSIP/22)

66. “Promoting soil health” and “making rainwater harvesting compulsory” — These statements

relates to
(A) Green revolution (B) Blue revolution
(C) Evergreen revolution (D) Yellow revolution

(E) Answer not known

"LD6ETTEUETES 60 GO LGS SIS InmmIDd "enpBl CFafllemu &L LTWLILGSSIS560”
- @& FaMHMIL 6T QSITLITL| 60

(A) usremWLLILTLE& (B) Beul ypLL&
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(C) usremLoWimenT LT &) (D) nEhaeT YL
(E) allemL s flwelevemey (CCSIP/22)

67. Which are the articles that describe situations and confer power to Union Government to
claim control over states
(A) Art 368 and 313 (B) Art 356 and 363
(C) Art 365, 256 and 257 (D) Art 349 and 350
(E) Answer not known
6THSE FLLMBIGET GLPBlemevs SHIHS MBIV T&HHM6T WEHEH U T8 SLOHLILGSSID
GG MTBIGH6T G MG 6T M 60T

(A) 756531 368 WHMILD 313 (B) #1651 356 nmHmid 363
(C) 57581 365, 256 DHMILD 257 (D) 5755 349 OHMILD 350
(E) eflevL Qs flueievemney (CCSIP/22)

68. Tamil Nadu State has which of the following policy/policies?
1. Tamil Nadu R and D Policy
2. Tamil Nadu Life Sciences Promotion Policy
3. Tamil Nadu Footwear and Leather Products Policy
4. Tamil Nadu Fintech Policy
(A)1,3and 4 (B)1and 3
(CO)1,2and 3 (D)1,2and 4
(E) Answer not known
SALBITH WTBleVD LI6TalHLD C\&TeTe0&H/6 & MeTen &H &6 60 6Temg GlLIMMIETETSI?
1. AIPBHTEH R nmmin D umed&
2. spEM@H Life Sciences Promotion LimeSI&)
3. OLLBI(H &meveoot] LDMMILD CS&MTeL QLIMIBL 6T LIMeI&
4. sOILLBTE SLNeTAL S LImedS)

(A) 1, 3 LOHMID 4 (B) 1 opmid 3
(O) 1,2 HmIbH 3 (D) 1, 2 HMID 4
(E) ellemL s flwelevemev (CCSIP/22)

69. Which of the following are correctly paired?

(i) New India and Commonweal - Mrs. Annie Besant

(ii)) Kesari and Maratha - Bala Gangadhar Tilak
(iii)) Indian Opinion - Gopal Hari Deshmukh
(iv) Indu Prakash - Mahatma Gandhi

(A) (1) and (ii) (B) (i) and (iv)

(C) (@) and (iii) ) (D) (iii) and (iv)

(E) Answer not known
LY etreumeusoreummlev eTemeu &Fiflmas Ll QLITHIHS) U 6TemeoT?
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() pPlu@bBSWT LMHnID &TneaTalsy - GBI, 2|60Ted | QILIF6ITL. LDEMLOWITIT

(il) Cosifl MM WFTSST - LTSRS TST HevssT
(i) @BHWT &MBSS - G mumey amifl G561 s
iv) @mba Ugssmev - D&TSLOM &HTHS

(A) (1) Hoib (i) (B) (1) poud (iv)

(O () ooibd 3 (D) (iii) omibd (iv)

(E) allemL s flwelevemev (CCSIP/22)

70. The steps adopted in the long term conservation strategy of wild life is/are

(i) Hunting should be strictly prohibited in the nation parks, sanctuaries, biosphere
reserves

(ii) More national parks and wild life sanctuaries should be established

(iii) Captive breeding of wildlife should not be encouraged

(A) (i) only (B) (ii) and (iii) only

(C) (i) and (ii) only (D) (i) and (iii) only

(E) Answer not known

auerT aleVBIGHEETL LIMEHSHTHGL Heoorl. &mev alflpenmaefledT QST D& mIgGeT

6T60TLI6M6)

(1) CBRAW LBSHTHSEET, FFeoTmellBIsG6T, 2 WNTECoHMeT STLILGMHISGET & weumnley
CallemLwmheug el QFuIwliLL Galsvor(hLD

(i) Guaibh CHAW LBISTSHSET WMHMID eleTelleuBi@ &FIeoormeVUlmigGeT BloieuliLL

Geuevor(h LD
(iii) euereleumi@ G erfledr PemmMUILILL @ 6T IGLHEHSHMNG 2618 &6 5H5HE Fal MG
(A) (i) L@ (B) (ii) nmouib (iii) L Gb
(©) () wmoib (i) L @ELW0 (D) (i) wmoib (iii) @b
(E) allemL s flwelevemey (CCSIP/22)
71. was the contemporary of Emperor Akbar in England
(A) King John (B) Queen Elizabeth-1
(C) Queen Victoria (D) King Charles II

(E) Answer not known
IGUT HMTeuSEH 6 @RIGTHNS 2l F QEulselF

(A) DedTEOTEOT SQTEDT (B) woseumid @ rmeoot] eTedlenu@ LIS
(C) @umevof] eNl&GLmIfluim (D) 9ip& @UevorL_iTLD FTF6eV6r
(E) ellemL s flwelevemev (CCSIP/22)
72. Meadows Taylor observes that the death of was ‘the beginning of the end’ of
the Bahmani kingdom.
(A) Mahmud Gawan (B) Ahmad Shah
(C) Mahmud Shah (D) Humayun
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(E) Answer not known

QLOGLITeN QL6 60T oevorld Limamlneot] <l G uller “(wplg.efledr @, rinLmbh”
6T6OTMI &5(TH G 6OTITIY.

(A) wamwg seurer (B) siaivng aqm

(C) wamig agqm (D) e®Lormus,er

(E) allemL s flwelevemey (CCSIP/22)

~73. Choose the correct match

1. Ariz-I-Mumalik - Minister for Defence

2. Mushrif-I-Mumalik - Accountant General

3. Dabir-I-Mumalik - Minister for public grievance
4. Mustaufi-I-Mumalik - Auditor General

(A) 1,2 and 3 only (B) 2, 3 and 4 only

(C) 1,2 and 4 only (D) 1, 3 and 4 only

(E) Answer not known
Flwumsl QUTGBHH WealhHenms CHTHO S M &86 LD

1. 9fleq-93-wmed & - UMSISTUL emngFaT

2. e fllI-83-w L medl & - 56016V60LN G &>600T5 & TEIT [T

3. TLIT-93-wLmedl & A QUIISHINGSH6T GMBTLIL| eNDFFT
4. (P69 561LN-93-( LD medl & - SHVENLNG 55600118608 UITET T

(A)1, 2 opmiid 3 DL (LD (B) 2, 3 l0mmid 4 L_(HILD

O 1,2 bHMID 4 L HILD (D) 1, 3 nmmilb 4 L_GHID

(E) ellemL s flwelevemev (CCSIP/22)

74. Which of the following statement(s) is is true about the union territories of India?

1. From 26t Jan. 2020, Dadra and Nagar Haveli and Daman and Diu are combined to
a single territory
Articles 239 to 241 in Part VII of the constitution deal with union territories
The two union territories from the former state of Jammu and Kashmir are Ladakh and
Jammu and Kashmir

4. The largest union territory of India is Andaman and Nicobar Islands

(A) 1, 2 and 4 are correct (B) 1 and 3 are correct

(C) 2 and 4 are correct (D) 2, 3 and 4 are correct

(E) Answer not known

@b W mellerr weflwerr LNrGsaFmIsGenaTl ] LMW LIeTau(hd dunMHmIGH6rflev 6TEl 2 6ooTemin?

1. 26 geralfl 2020 (PH6L HTHTT LDMHMID HTHTFaMGaIE MM LITIOG6T DMMID ML W,
A Wemal RCT LIFCHFIOMS @) 606007 &L 1LIL (H6TeTeoT

2. orFRwevennliter VII LGS ulley 2 _6Ter 239 (DG6L 241 aemgwWilevrmeor  LNifleysser
weof w6t LNTGHFMIGET Q&ITL [T LIT6Ten 6!
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75-

76.

3. (WNHMSW DTBleVLDMeT QW WMMID &TeaqlSiler @ revor( W eoflwler LNgGs & miger
ULIT& LDMMILD QDD LOMMILD &HTaqLST QL& LD
4. @pHwreller Wsluflw welwer LNyCssnd bBSOMeT WHMID BE&ECHTUMT

e &6l
(A) 1, 2 OYID 4 &1 (B) 1 ophaid 3 &ifl
(C) 2 O 4 &1 (D) 2, 3 OOILD 4 &ifl
(E) allemL s flwelevemev (CCSIP/22)
Match the following
Committee Year
(a) Goswami committee on electoral reforms 1.1993
(b) Vohra committee report 2.1998
(c) Indrajit gupta committee on state funding of Elections 3. 2008
(d) The second administrative Reforms Commission 4.1990
FELD&HE0TLaIMemMmL QUTHS SIS
GSW 24,600 (D)
(a) Gz FID (HE S MIGET Q&L IJLIT6oT
GameneUmll &L 1.1993
(b) Gaumpm G SINMHN&H 2.1998
(c) 9r&er BIGWefllIL epevnT&HS CHIE V& 6T LM Ml
QbrHILS GUST GW 3.2008
(d) @uevorL_meugl mBlJauns:s ETHHESS 2606007 WLILD 4.1990
@ Mm @ @@
(A) 1 2 3 4
(B) 3 2 1 4
©) 2 4 3 1
D) 4 1 2 3
(E) allemL s flwelevemey (CCSIP/22)

Assertion (A) : Critical thinking focuses on what causes a belief

Reason (R) : Critical thinking entails evaluation and formulation and it operates
according to rational standards in that beliefs are judged by how well they
are supported by reasons

(A) [A]is true but [R] is false

(B) [A]is false but [R] is true

(C) Both [A] and [R] is true and [R] is the correct explanation of [A]

(D) Both [A] and [R] is true but [R] is not the correct explanation of [A]

(E) Answer not known

Famml (A) : 2 W Abgemet, (b BLOLNGen G gHLIBSSIUF6 (&S
SITIE0OTLO NS 36T S
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&mgeord (R) @ 2w Fbsemenr ereorig WHLILTH WMHMID 2 [(HauTHESHD S Wamenm
2 @TTLGH WS HMID 98 UGS ST BlemevderlerLilg
QFWOLORMSI. HS HLOLN G 60 &HSEH6T &ITI600TEIGHETITE) 61616166
FLILTES 951188 L1L(H S 60T M 60T 6T60T LIS 60T L6V
Fnme&alILGSH S

(A) [A] 0] epeormey [R] euy

(B) [Algeum opermev [R] &1

(© [A] mmmid [R] &1, [R] - aeora [A] 601 siflwimeot ellemggsLn

(D) [A] nmmid [R] &1, [R] - apeora [A] 601 eiflwiment elem& oD 3j6V6V

(E) allemL s flwelevemev (CCSIP/22)

77. Which among the following is/are wrong about a fertilizer?
(i) Fertilizer must be insoluble in water
(i) It should maintain the pH of 10 to 13
(iii) It should not be poisonous to plants
(A) only (iii) (B) (i) and (i) (©) (@) (i), (iii) (D) only (ii)
(E) Answer not known
FLDHTEVID FaMNGEHETI6L 2_JHIGET GMSHSH FHEUMTET Fn MM 6THI?
(1) e grser Biflev W @M sV Cealevor(hLd
(i) e pm&seT 10 Waev 13 pHy LFTLHl&HEHev Geuetor(hLd
(iil) 2_JBIG6T HTEITHISEHEHE HEGFHHEMTH @) (HSHH) Fal TS
(A) (iii) LD (B) @) mmoub (i)  (C) (@), (i), (iii) (D) (ii) @b
(E) allemL s flwelevemey (CCSIP/22)

78. Which among the following is/are not associated with “Catch the Rain” campaign?

(i) The campaign is launched by National Water Mission

(i) The campaign drives to make check dams and water harvesting pits

(iii) The campaign stresses the removal of obstructions in the canals

(iv) The campaign requested the central institutions to open rain centres to guide people to
harvest rain

(A) () only (B) () and 3

(C) (1) and (ii) (D) (iv) only

(E) Answer not known

edraueueraummieT “Catch the Rain” @uigssg L 6T QSTLTLNMSH S 61517

() @b QQusswmars CHAW B Lieoolume QSTLBISLILLL S

(1) @bs QUuESHLTETE, SO LILETE6T InMMID BT CF&IILIL G W HL 6560 88606
DGR M S

(i) smeeumiliseTley 2 6T6m HeMLHemeT 3HMM @)HS @UEHELD aedumISHH M

(iv) wenp By CoFNES I0&HEHEHEG UG L LDEMLD 60LOWIBIS 6T HME G TN @)HS
QW&HELD ESHW BloieleaTmisGemeT CoL(hd 8 meuor(heTensl
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(A) (1) LLGID (B) (1) moud 3
(C) (1) womud (i) (D) (iv) nL (b
(E) eflevL Qs flueievemney (CCSIP/22)

79. The abbreviated term VVPAT stands for
(A) Voter Visit Poll Account Trail
(B) Voter Vivid Press Audit Trail
(C) Voter Verifiable Paper Audit Trail
(D) Voter Verifiable Paper Account Trail
(E) Answer not known
VVPAT esnild &H&HHLILLLE Q&ML &ML
(A) eUM&HGMaTH aUIHEM S UTEHQHBHILIL| HeML (D6 M
(B) eumg s meny Qgerfleument LSS fl&hemss &600f18:608 [H6ML (LD
(C) aumss ey FlUMI&S55G I SHTHSHS 560018560 [H60)L (DM M
(D) eums s meny FHlUMISG&H&8m QU SHTHGE 56008 @ [H60)L (LD 60 M
(E) allemL s flwelevemey (CCSIP/22)

80. Which of the following is responsible for protecting humans from harmful ultraviolet rays?
(A) UV-A (B) UV-C
(C) Ozone layer (D) None of the above
(E) Answer not known
GmE almeralla@&Gd Lm 2015185 &HFH6fle @ubhgl eflsisenerll LUMSSTLILS
LY edTeu(meueoTeumMMmlev 6TaI?

(A) UV-A (B)yUvV-C
(C) eG&medT LIL6VLD (D) GLo6v 2_aTaTemel 3{6V6V
(E) allemL s flwelevemey (CCSIP/22)

81. M. Visvesvaraya’s birthday is celebrated as Engineer’s Day in India. He was the Dewan of
which Princely state?
(A) Hyderabad (B) Jodhpur
(C) Mysore (D) Gwalior
(E) Answer not known
M. alevGeusiveugiwimelledr mbsbBmer @nbHwmeledr Qumlwmery &Hernmss
Q&MeooT LTLLILM&S M. 96U 6T1HS &FLO6NGTeoTE S 60T HeUmeT s @) (BHSTT?

(A) emamsrmuns (B) Ggrsui
(C) &I (D) ®eumedluwiry
(E) allemL s flwelevemey (CCSIP/22)

82. Which is/are the provision inserted in the Central Universities (Amendment) Act, 2022
1. [Establishment of Gati Shakti Vishwa vidyala
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2. Providing high quality teaching, research and skill development in diverse disciplines
related to physical sciences

3. Upgradation of State Universities to Central Universities

4. Providing high quality teaching, research and skill development in diverse disciplines
related to transportation, technology and management

(A)1and 2 (B)2and 3

(G 1and g (D)1and 4

(E) Answer not known

LSHWL LLEHMVE HLP&HIGET (HHHHID) FLLID, 202260 CFFHELILLL FI&HSI6o56T

6T&I?

1. &5 F&HH) allaqealals e BlmieliLLeY

2. @QumLiwev nleflwey QsTLIUTeT LeLGaum Siemmsefley 2 wisy SMHLGSH6,
QLTTUIES HMID HMeT GUTEH & UMM GULDTHIE S 60

3. WMBlVL  LUUSHMEHEEHNEHIGET  WMGFHUL  LUO&HMVESNEBIGATTSES SN
2 WISSIH60

4. CUTHGAITSS QMWL LU WMmmID GCLeTETenD QSTLTUTeT LisuGaum
Slemmaefley 2 WIsT &MHLSH0 WTTUESF InMHmILD HmeT GLOWDLITL ML 6ULPMHIG S 6V

(A) 1 DD 2 (B) 2 npmiid 3
(C)1wmoubd 3 (D) 1 oI 4
(E) allemL s flwelevemey (CCSIP/22)

83. Match the following

Chairman Committee

(a) Kaka Kaleekar 1. Tribal Development

(b) Xaxa 2. 7th pay commission

(¢) Mandal 3. Second backward class commission
(d) Justice A.K. Mathur 4. First backward class commission

BG5S 600TLeUMen ML QUITIHS SIS

SeEmeveuy &SW

(a) smam H6a& 1. UpBIGLIUeTT (6T GaTmmLD

(b) rmgam 2. 761G 2MH UG & (D

(c) wevoTL_60 3. @uevor_meug LIMUQSSLILILGLTT G wW
(d) ggervigeiv AK. omg &y 4. WeTaug LINHUGSSLILILGLTT W

@ m @ @

A) 1 3 4 2
B) 4 1 3 2
©) 1 4 3 2
(D) 3 2 4 1
(E) ellemL s flwelevemev (CCSIP/22)
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84.

85.

86.

87.

88.

Who said, “Tamizhodu Isaippaadal Maranthariyen”?

(A) Thirugnana Sambandar (B) Thirunaavukkarasar
(C) Sundarar (D) Manikkavasagar

(E) Answer not known

"SLOIGLMH @& LILIMLGV LMHSMIGUIET" 6T6oTL] LITIQUIGUT WIT?

(A) BT FIUBST (B) ®®mBme&saers)

©) =BT (D) wmeol1&:&6UTEF 8T

(E) allemL s flwelevemey (CCSIP/22)

Which Tamil Poet injected the spirit of Nationalism and National Integration?
(A) Bharathidasan (B) Bharathiyar

(C) Sundanandha Bharathi (D) Kavimani

(E) Answer not known
6ihs SWD sl GsFWL WML GCHAW IMHENWLILMLIQN) 2 600T[T6)5H M6l

SIT600TLQ.60TITT?

(A) UTT & G TFeT (B) umrp®wmy

(C) srpmeTHs LITTS (D) sallneoof]

(E) allemL s flwelevemey (CCSIP/22)

What was the royal emblem of the Rashtrakutas?

(A) Lion (B) Golden Eagle
(C) Tiger (D) Elephant

(E) Answer not known

TIT611q T8 L T8 6rfletT G&H G\ W & 60T60r LD 6T60T60T?

(A) ArisLb (B) 5mi& W&
(C) ued (D) wremen
(E) allemL s flwelevemey (CCSIP/22)

Which among the following Inscriptions mention the ancient word “Madura”?

1. Inscription at Siddharmalai 2. Inscription at Alagarmalai
3. Inscription at Mamandur 4. Inscription at Paatipuralu
(A)1and 2 (B)1and 3 (C)2and 4 (D)3 and 4

(E) Answer not known
eTaud &6 el (h&erfley 6ThHs HUEAIL I “IDSITT" 6T LILPEMLOWITET Q& Tev

SLL LUl (eTengl?

1. AHHTINmM6V SV UL (H 2. 9IPSHTLO6V &H6VGI6UL (D)

3. LDMeoTBT SV UL (H 4. UTSH LT SV 6L (h

(A) 1 LoHouid 2 (B) 1 opoyuid 3 (C) 2 bHoiid 4 (D) 3 wmaytd 4
(E) allevL 0z flwelevemney (CCSIP/22)

Find the missing number in the place of?
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1 2 3

4 5 |6

7 8 |9

27 38 | ?
(A) 49 (B) 50 (C) 51 (D) 52
(E) Answer not known
N (BILIL_L 6T600TEM 60T & IT600T S

1 2 3

5 6

7 8 9

27 38 | ?
(A) 49 (B) 50 (O 51 (D) 52
(E) allemL s flwelevemey (CCSIP/22)

89. An apple costs T60, a guava costs 90 and a mango costs ¥ 60. How much a pomegranate
cost?
(A)X 60 (B)X 90 (C)X 120 (D) X150
(E) Answer not known
@ 2L1L96T (Apple) ellemev T60 (B QamUIWT (Guava) allemev TQO LOMMILD 6(H LOMLDLILDLD
(Mango) allemev X 60. 2 LoMaIemeT (Pomegranate) aflemey eTeleU6T6)Y?
(A)X 60 (B)X 90 (C)X 120 (D) X150
(E) allemL s flwelevemey (CCSIP/22)

90. In what time will 8,000 at 3% per annum, produce the same interest as 6,000 does in 5
years at 4% simple interest?

1
(A) 5 years (B)5 S years

1
(C) g years (D)3 Py years

(E) Answer not known

3|F6 36,000-5& 5 2,600T(H&6Tl6L 4% il 1 efF5H 60 R & @G SHevflaul 1qu]b, F6
X8,000-51 3% all Iy af55H 6 RenL&EGD SHeofl Ul lQuld FIODME @HEHEGLD 6Tefley,
315607 2,600T(H & 6T 6TEUEUETEUTS @) (HEEGLD?

(A) 5 i@ et (B)5 susim@eser
(©) 3 T @EReT (D)3 sy
(E) ellemL s flwelevemev (CCSIP/22)
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91. Pick out the correct abbreviation for the word ‘PURA’?
(A) Providing urban amenities in right area
(B) Providing usual amenities inrural areas
(C) Providing urban amenities in regiional areas
(D) Provision of urban amenities in rural areas
(E) Answer not known
‘PURA’ srettenild Q& mevedlent &iflwiment ellifleumsssams s CHIHOS M)
(A) srflwme UGG sefleL BETLILM 6UFSH 6T CULDMKIEG 560
(B) | ymnll LGS &6rflev aULNESLNTET 6UFFH) & 6T 6ULDMHIEHS 6V
(C) wevor_eull LGB S6rflev B&TLILIM 6UEFH &H6IT 6ULOMHIE S 6V
(D) @ pmrwlymuEd seflev BHTLILM euFH &HemeT eTmL(H &S5 60
(E) allemL s flwelevemey (CCSIP/22)

92. Which of the following measures have been taken to attainthe aims of the new industrial

policy?

1. Industrial Licensing 2. Foreign Investment

3. Foreign trade Policy 4. Public sector management
(A)1and 4 (B)2and 3

(O 1,2and4 (D)1,2,3and 4

(E) Answer not known
FpE&sTLalmmieT UHW  QsTLhmAsTaransulear ChMHHMBIGMmMT L alHN &S
CGLMASTETETLILIL L (LDEDME6T WITe06U?

1. agmdlev 2 flinib 2. WBTL B WH65®H
3. WEBITL(H eumeoofl LG Q& TETeN S 4. QUITE Slemm BlFeUTSLID
(A) 1 LoHoOID 4 (B) 2 opoid 3

(O 1,2 OMID 4 (D) 1, 2, 3 LDOMID 4

(E) allemL s flwelevemey (CCSIP/22)

93. Nehru-Mahalanobis planning model was based on the following strategies emphasised are
1. High rate of saving
2. Preferred a heavy industry
3. Discouraged import substitution
4. Safeguard infant industry
(A) 1 and 2 correct (B) 1, 2 and 3 correct
(C) 1, 2 and 4 correct (D) 1, 2, 3 and 4 correct
(E) Answer not known
GHB-0&CHITLIev S LIr&H ]l KeTamld 2 &3 &eamer aledlumis IR mal
1. 9185 Gl efsld
2. HTIS QSTHINGEG (neTeaflemnin
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3. @M&EGE LUFH S0 20188 L0l6TemLn
4. U W QamHflens @ LMsissmiy

(A) 1 bHmb 2 &Fif) (B) 1, 2 nhmib 3 &ifl
(O) 1, 2 OOID 4 & (D) 1, 2, 3 HOID 4 &
(E) eflevL Qs flueievemney (CCSIP/22)

94. Which of the following is incorrect
(A) The Indian National Congress boycotted the First Round Table Congress
(B) Gandhiji attended the Second Round Table Congress
(C) After the Second Round Table conference the Gandhi-Irwin pact was signed
(D) Communal Award was associated with Third Round Table Conference
(E) Answer not known
LY 6BT6u (H6u 60TEUM M6V & EUMITETETIEU ETEMI6U?
(A) Ws QL LGWenF OMHITL ML @bHS W CHFW STHRIS TV LM &8 6055 S
(B) smp® e @revorLmeugl aul L GLend WOMBITLIL6VLBICEHMHMMTT
(C) @uevorLmeugl el L Gend OMBTLIMEG LTl &THE-@Teler spliLibGHLD eTHLIL L Gl
(D) sslbw,eom6L jeumi( eeTMTD ULl L Gem& LMBTCLT(H QS TLFLenL WS
(E) allemL s flwelevemey (CCSIP/22)

95. “Damin-i-koh’ was the land given by the British to the

(A) Santhal tribes (B) Kolu tribes

(C) Garo tribes (D) Munda tribes

(E) Answer not known

"Ll edT-@)-C&HTam 6TedTenlLD Hl16VLD 3 MHIG G6V LTS 6ITIT6V & QUPBISLILILLG
(A) FlbsmeL LIPMHIG I ulleory (B) Gasmev LILpMBIGIQ Ul 6oty

(C) &Gym upmIGIguilerTF (D) @wpevorLim Lo Le.ulleor

(E) allemL s flwelevemey (CCSIP/22)

96. Choose the right matches

1. Khizr Khan - Orissa

2. Durgavati - Gondwana

3. Rana Udai Singh - Mewar

4. Kunwar Man Singh - Ajmir

(A) 1 and 2 are correct (B) 2 and 3 are correct
(C) 1 and 4 are correct (D) 3 and 4 are correct

(E) Answer not known
FrflwmeT QUMTHSSBIEH6T CHF6 Q&F WD

1. \NFMTF S Meor - eiflem
2. HIF&HTUG - B & T600T L6 60T T
3. JTeoorT 2 & UG Ml - Geury
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97.

98.

99.

4. S6Tal LDMTedT FIMHI - E-YEeTTil))

(A) 1 HmIDd 2 FflwmeTemeu (B) 2 nmmib 3 Fiflwimetemeu
(C) 1 nmmiLD 4 FiflumesTeme (D) 3 nmmith 4 siflwimeremeu
(E) allemL s flwelevemey (CCSIP/22)

Which of the following statements about the Guptha society is true?

1. The guptha emperors called themselves as Parama Bhagavatas

2. Trade with Rome and China flourished

3. Women were debarred from exercising public rights

4. The custom of Sati was practiced by them

(A) 1 and 3 are correct (B) 3 and 4 are correct

(C) 4 is correct (D) 1, 2 and 4 are correct

(E) Answer not known

SP&GMILINLLIU@UaINM GLUSTHET &MVE FUWSTWD GMISS Sammisertle
FrflWmeTemey eTemel

1. LS SITFTHET HHIGHM6TL LITIOLTHEUST 6T60TM 36MLNSH S8 G & T600T L 60TT
2. FeoTmayLspild GrmIpLeid elWmUTylh Q&F W& s S5

3. QUTEI BIGPFRGH6rTlev LIBIGELM QLITHEHHEGSGS SO @) BHSII

4. 2 LeTHL6eML gmIlD LIP&GHSEHLD QBHSS!

(A) 1 npoid 2 &ifl (B) 3 opaiid 4 &1l
(O 4 wLGIb &1 (D) 1, 2 oo miLd 4 &
(E) allemL s flwelevemey (CCSIP/22)

Identify the incorrect statement about Lok adalat

(A) Lok adalat is a mechanism for speedy trial of thedisputes

(B) Itis not a tool of the legal system

(C) It is a kind of forum to settle cases in an amicable manner

(D) Lok adalat goes to the people to deliver justice at their door steps

(E) Answer not known

"GeVITE BMeVS" LMWL SHeUMmITeoT 6UMTESHIWLIS eSS 8 600T L mluley LD

(A) Coules I BMELE CTETLISI R(1H QUGG E6M6T e TH & (LDI].&&H6I6060 Q& WLIeVemLOLIL]
(B) @& L Lgjemwliier small 3j6vev

(C) aups@HemaT FLMgmer (WenmUle (N196|85E& Q& MeroT(heUT e(H 61608 WITE0T LDETMLD
(D) Goumss-2|BMevS L0&:&H6T UMFMLING &CEH QFeTml B aULNBIGHR M

(E) ellemL s flwelevemev (CCSIP/22)

Who said, Delegated legislation and administrative tribunals are the manifestation of “New
despotism”?

(A) John E. Kersell (B) Sir Cecil Carr

(C) Lord Heward (D) D.L. Hewit
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(E) Answer not known
FlLlwWmmd AH&ETT eluUenl b, Blfumss SHLUUMWBISEHDn,  "'Usw
FreumTH&TISH 601" QeueflLILIm( 6T60T8 Fonmluleu WIT?

(A) ggmretr. E. Q0@ &F60 (B) 0. 91960 T
(©) svrryL anfleur () (D) D.L. amledlL_
(E) allemL s flwelevemey (CCSIP/22)

100. Alterations in the environments represent selective pressures upon the population to which
it must adjust. This statement infers that
(A) Organisms will increase in population in a changed environment
(B) Organisms which fail to adjust to the changed environment must vanish
(C) Organisms will alter their morphology to adapt to changes in the environment
(D) Organisms will change the environment under selective pressure
(E) Answer not known
FMHMIEG L6060 gMLGILD LDMMMBIGET, IDESHET / Q60T Q& TenS&HenLE &ifl Q& uIul Galeoriq.ul
CHIHOSHEHHILLL WHSHHEEH SMIHHETMT eTeTLmME QbhS AMEHnSH
2 TS SIH DS
(A) urPleuEd GLediley 2 WifleThIgGeT QS Temnd A &8 G LD
(B) nmrplw @GLasE gou wrmng 2 wiliflermisser  Wlibg Gumes CBhIfH WD
(C) hmF&LeN6L gHUGL WLIHPHEISGEEHES ghHu 2 uWlflarmeer ShiGer 2 (e
SlemoLienL LomMH &6 & MeTEHLD
(D) CaHIBEHOHHLILLL AN(WSHSHHH 6T SHLd 2 UIlfleTmhig6T @ a6y LOMMHMILD
(E) allevL Gz flwelevemney (CCSIP/22)

101. Match the following

(a) Polyethyleneglycol 1. Herbicide

(b) Bt Toxin 2. Stress Tolerance

(c) Glyphosate 3. Insecticide

(d) Proline 4. Cell Fusion

BLDE S E00TLeUMenMm QUITHSH SIS

(a) Umed) eT& 60T HeM6TSs M6V 1. HEN6MHGQ &MV

(b) Bt B&F&H6iT 2. (W& FHILILIS G660

(c) BemeTCUTCEFL 3. LEFFREQ &ML

(d) uGymedSledr 4. 2 Wyeml @)6n6ure)
@ G @ (@@

A) 3 4 1 2

(B) 2 1 4 3

© 4 1 3 2

D 4 3 1 2

(E) allemL s flwelevemey (CCSIP/22)
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102. PM Gatishakti is a transformative approach for economic growth and Sustainable
Development which focuses on
(A) Educational Development (B) Multimodal Connectivity
(C) Empowerment of SHGs (D) Environmental Development
(E) Answer not known
PM 55 &85 6TedTLIGI QUITIHETTSTT 6UeT &S nMMmILD Hl60I6VWITE0T 616 & & & & TeuT LOMmHmI

SIS PODWTSLD @3 @160 HEUETLD AFVGSIH MG

(A) eval aueTFFH (B) ueTLh s @) 6mevoTey

(C) SHGs-6tT 9iH &ML (D) &=hoiliLm @Lpmlemev eleTigEF
(E) allemL s flwelevemey (CCSIP/22)

103. Which one of the following is NOT an objective of the Union government’s “Beti Bachao Beti
Padhao” scheme?
(i) Prevention of gender biased sex selective elimination
(i) Ensuring survival and protection of the Girl child
(iii) Ensuring education and participation of the Girl child
(iv) Creating a fixed deposit in the name of the Girl child concerned
(A) (i) only (B) (i) and (ii)
(C) (iii) only (D) (iv) only
(E) Answer not known
GLpsmeooTUaIMMIeT 61g "GULLy LUFCET, GULIY USCSHT" 6relld seTmiwl o F& 6ot
G LG5 6T CHITHSLD BemLLIMSI?
(1) umeler ogliLemLullevmer @56 HHHEHMeTTE HemL Q& ISV
(i) QuevT GLPHeNGSETleT a6 LMMID LIMSISTLILNener 2 MG Q& U560
(i) Quevr GBS H6T6T Hevadl LDMHMID LIBIGHMLIemeT 2 MG Q&FUIS6
(v) FhubsliUlL Quetr GLHasWler QUWIflL BITHST mealllld QHTngHemul

JOLGSSIS6V
(A) () LLEID (B) () nmoid (ii)
(C) (iii) L @b (D) (iv) (b
(E) ellemL s flwelevemev (CCSIP/22)

104. On April 10, 1802, the Great Trignometrical Survey of India commenced its work from
city
(A) Delhi (B) Calcutta
(C) Bombay (D) Madras
(E) Answer not known
@bH W (WECHTeoTell ey Ule] BlmieleTd gLigey 10, 1802 — QD 2y,600T(H
BV Heorgl o UlalemerTd QG TLHBISH WS
(A) 196060 (B) :6vm5 5T
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(C) uburrul (D) s gmen
(E) allemL s flwelevemey (CCSIP/22)

105. Carolyn Bertozzi, Morten meldal and Barry sharglers won the 2022 Nobel prize in chemistry
for?
(A) For the development of click chemistry and bioorthogonal chemistry
(B) For discoveries concerning the genomes of extinct hominins and human evolution
(C) For the development of asymmetric organocatalysis
(D) For the development of a method for genome editing
(E) Answer not known
&Grmedledt QUIGLMeS, GUMIL6T QelLe Wwmmid Cuifl eqris&euieny WHECWITH
20229410 31,600T(H &S TerT CauHulliedlev eTEME&MS GHITLIE LIflend QleueTmImF?
(A) Reflg alevlifl Hmid LCWMTYTHECSHMTEHTEV Q& LAleLflulleT eueTI&F& & sms
(B) oifbaGUmer GammidlenfleiTas6rfledT LT LIS®I&S&H6T InMmMID Weflg Lfleormiomn Lmlwl
&H6ooT(HILIIG LIL| & E@H T
(C) sEFTmm 2 T5CTTHTLeNG 6rd6ir eueTiFH oMo
(D) wyue eTiq L 19BN (penmuiler euemTiFR &amss
(E) allemL s flwealevemey (CCSIP/22)

106. Kalaignarin Anaithu Grama Orunginaintha Velan Valarchi Thittam aims at
1. Increasing the cultivable area
2. Bringing fallow land under cultivation
3. Changing the crop pattern with introduction of new crops
4. Augmenting water resources
(A) 1, 2 and 3 are correct (B) 2, 3 and 4 are correct
(C) 1, 2 and 4 are correct (D) 1, 2, 3 and 4 are correct
(E) Answer not known
&6V EhIfl60T 3 eMeTTEH S HIITD 6 (HMHEIG 6m6toTHS Cel6TTevoT eUeTIFS &L SHFH 60T (n&&H W
GBM& &L
1. FMGUY LTLlemU 985 &H&6Es Q&g
2. QEMLIBS BlevsHemns FMGLIGEG 6 &Teor(h 6U(HS6V
3. 4UHW Lulisemer omMlnsLiLB S SI61S60T epeuld LIUNT (pemmen oMM mIge0
4. BT STIHIGHEN6T GLIIHEG S 6V

(A) 1 nHmILD 2 & Wwemel Fifl (B) 3 nmmib 4 B wienel &yl
(C) 4 L B\ W& wenel Fifl (D) 1, 2 nHMILD 4 QL& Wiemel Fifl
(E) ellemL s flwelevemev (CCSIP/22)

107. Which of the following statements are true in respect of Dr. Muthulakshmi Reddy?
1. She was the first woman in India to get a degree in medicine
2. She was the first woman Legislator in British India
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3. She was the first female student to be admitted in Maharaja’s college
4. She was the first woman President of the legislative council
(A)1,2and 3 (B)2,3and 4

(©)1,3and 4 (D)1,2,3and 4

(E) Answer not known

LOGLY. WSS Qrligenwll Qummgsaleny Ll Sammssefley e6rgl
D_600TEOLOWIMTSI?

1. @BHWMelley IDHSSIUSH ) LILLLD QUMM NSV GLIETOT SLeUTT
2. Nl geq @b wmeller (g6 FLLID6Tm 2 mILILNeoTTmeurTy

3. &TIMeg Sevaurflulley CEFFHSE (NGH6V GlLI6oT LOMevoredl Ul meu Ty

4. FLLF@UWIET (LNS6V GILIGTIT &6M6V6lTTUTT

(A) 1,2 DpHouLd 3 (B) 2, 3 oL 4
(©) 1, 3 DHmID 4 (D) 1, 2, 3 OMILD 4
(E) allemL s flwelevemey (CCSIP/22)

108. The significance of Tamil Nadu Panchayat Raj (Amendment) Act 2016
(A) Modifications in three-tier system
(B) Constitution of District Planning Committees
(C) Transferred specific functions and powers to Panchayats from the State Government
(D) 50 percent reservation for women
(E) Answer not known
SLPBTH LUEFTWSS TR (FLL HHSHS DCFTSHIT) FLL LD 201665 FIMLUILINELD
(A) et (H&E& Wemmuilev LDMHMLILIL LS
(B) nmaul L L& GWDHHM6T 3enNGSS
(C) MUV L 9B e&MIHEIGem6T IMHleL STFNmHHS LIEHE TS SIHEHH S

WLrHOUULL g
(D) 50 555 QL 5815860 QLTHEHEHE QHTHHHLILILL S
(E) allemL s flwelevemey (CCSIP/22)

109. Which of the following statements are true about Ramalinga Adigal?
(i) He started the Samarasa Suddha Sanmarga Satya Sangam in 1865
(ii) He was against caste system
(iii) He established Satya Dharma Salai in 1867
(A) (@) is true (B) (1) and (iii) true
(C) (@), (i1) and (iii) are true (D) (1) and (ii) are true
(E) Answer not known
LN 6dTeu(HeustToUMMIET @M MBISES 319856 LM MU 2_600TemLOWIT60T Sn MM 6TSH1?
() @Umeimkis 9198567 FINTF &HS FTIDMTHS FoH FHIGSMS 1865-60 L TIDLNGSTT
(i) @UumedmIs 9198567 QTH U NEMMEG 6TH Tt
(ii)) @urwedmkia 919 86T 1867-60 F5W S0 FMenevenl Blomielleor Ty
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110.

111.

112,

(A) (1) DL @D 2_6v0Tem LD UITEOTS) (B) (1) inmmith (iii) 2_evoremDWITEOTSI
(C) (1), (i) nmmiid (iii) 2 evoremwowimeorg (D) (1) bmmub (ii) ©_6voT6vIL0 UL T6OTSI
(E) allemL s flwelevemev (CCSIP/22)

Find incompatible pair in the following

(A) Pradhaba Mudhaliar Sarithiram - Vedanayagam Pillai
(B) Sugunasundhari - Nadesa Sasthiri
(C) Kamalambal Sarithiram - Rajam Ayyar

(D) Padmavathi Sarithiram - Madhavaiya

(E) Answer not known
QUITBHSIT ©)60)600TemLIS &600TL_ M8

(A) Ggsmu Wwsewry siflsH T - Geaus BTG LeTemer
(B) &z @600 &H 51 - BHCL& Fmev& ]

(C) sswevrbumeT FiflGHFLD - T SUIwF

(D) ugLmaud) FflEH LD - LDIT& 606U U T

(E) allemL s flwelevemey (CCSIP/22)

Who said these lines to whom?

“Maarivaram koorin mannuyir illai

Mannuyir ellam mannaal Vendhan”

(A) Manimegala deity to Udhyakumaran

(B) Sudamadhi to Udhayakumaran

(C) Dheevathilagai to Manimegalai

(D) Manimegalai to Udhayakumaan

(E) Answer not known

"rifleumid go e eTenuily @ evenesy

LD6aTERIUN [T 6T6LVITLD LD 6DOT600T IT6IT G6M[HE5 60T -6T60T WITT? WM(HEHEG 2_6TSHS5SI?
(A) eol1GL&GMT QG UIAIDN 25U DTS G

(B) &508) 2 sLGLIDIES

(C) Gaudeven & L0 6ol 1B &MV G

(D) wenflGLn&em6v 25 WG DI & G

(E) allemL s flwelevemev (CCSIP/22)

“Urellam koodi olikka azhuthittu

Perinai neekki pinamenru perittu”

Who defined death as a undefiable force?

(A) Appar (B) Thirumoolar
(C) Sundarar (D) Manikkavasagar
(E) Answer not known

"26e1Q JVEVITLD Falq 6260158 WS L (B

www.vetriias.com 9884421666/9884432666

42


http://www.vetriias.com/

Guflemerr H&GHLI LNevorid etedToy GLIFIL B
6TEOTE FT6Y 2_600T IS SID Blenevulmennenl eT(H&HSI& Famluleul wmp?

(A) sy (B) @®mewpeury

(O) &bsu (D) ormeso & &Heums sy

(E) allemL s flwelevemey (CCSIP/22)
113. Match the following with List I with List IT

List I List II

(a) Thirumurukatrupadai 1. Mudattamakanniyar

(b) Porunaratrupadai 2. Nakkirar

(c) Sirupanatrupadai 3. Kapilar

(d) Kurunji Pattu 4. Nallur Naththathanar

eraumeusraimenmi LI 1quiev I-Gmm@® LI 1quiev IT-emeotll QUIM[HE SIS

uCguie I uCguwev IT

(a) DU msTHMLILEL 1. (P& 5ITLO & 8560076001 | WIIT[T

(b) QuTGBIFTHMILILIENL 2. B&ESETT

(c) A miumesorTHOILILIEML 3. &Ueu

(d) NS ur®H 4. BV 5SSSSE0TTH

@ b ©© @ @

A) 1 3 2 4

(B) 1 2 4 3

© 2 1 4 3

(D) 3 2 1 4

(E) allemL s flwelevemev (CCSIP/22)

114. The compound interest on X 16,000 for 9 months at 20% per annum compounded quarterly
is
(A)X 2,599 (B)X 2,572 (C)X 2,522 (D)X 2,502
(E) Answer not known
20%, aLeoor(h QUL IQUN6L SHTeLMeT(H&E RMHUMM QLY &HeooTdSHLLILGWD Wenmuiley
% 16,000 & 9 LDMHMHIGHEHEHESG RO &G0 Fnl (H UL 1QUITETS
(A) X 2,599 (B)X 2,572 (C)X 2,522 (D) X 2,502
(E) allemL s flwelevemey (CCSIP/22)

115. In what time period will ¥ 10,000 earn an interest of ¥ 2,000 at 10% per annum?
(A) 2 years (B) 5 years
(C) 6 years (D) 3 years
(E) Answer not known
31F6V X 10,000 24,6075, 2,600T(H &G 10% el 1lq 55T, 6716 FHemeor 2,600T(h&6rflev I 2,000
QL 1gemWl] QUMHMIG &(HLD?
(A) 2 syev0T(H\G6T (B) 5 oy evor(H) SH6IT
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(C) 6 oyevor(H SH6IT (D) 3 sye00r(H) S6IT
(E) eflevL Qs flueievemney (CCSIP/22)

116. Assertion (A) :The New Educational Policy (NEP) envisages a complete overhaul of
teaching-Learning process from the traditional teacher-centered to learner
centric approach

Reason (R) : NEP ensures that holistic development of students by accentuating their
creative potential

(A) [A]is true but [R] is false

(B) [A]is false, [R] is true

(C) Both [A] and [R] are true; and [R] is the correct explanationof [A]

(D) Both [A] and [R] are true but [R] is not the correct explanation of [A]

(E) Answer not known

Famol (A) ! HOHUSH0-GMHMEL QF W6V MUI BT (LD (LD 6D)LO U IT6oT
LMIETeUNMN&aETs, UHW H0al&E6&memends, Umghurflu @ flug
MLOWILDITS @(BHS MMV, &ML 6T M0 3|60 & (LDEMMUITS
2 (HeURGTMSI.

&rgeord (R) : 4B W H6v6 Q&meTem s ulley LDmevoTel 8 6rfl60T 3,8 8 LLIT6) S M 6, 60T
2 WFHH 3j6eUFH6rl60r (L (WD EMLDWITET aleTI&FFeml 2 M1 QFUIH6

(A) [A] eretTIE &l Qyeo1m6L [R] 6T60TLISI S6Um!

(B) [A] etetTLIE Soumi seoTTeL [R] etedTLIS! &FIf]

(©) [A] nmmid [R] @emeu @revor(hd &ifl inmmild [R] etedrLigl [Al-uflest sifluwimeot ellemgssLn

(D) [A] wmmib [R] @emeu @resorid &ifl apeormev [R] eteoruig [Al-ullesr &rflwimeor

668 8506V 6V
(E) allemL s flwelevemey (CCSIP/22)

117. Jawaharlal Nehru wrote in 1961 ‘India as a secular state honours all faiths equally and gives
them equal oportunities’. S. Radhakrishnan as President of India too expressed ‘when India
is said to be a secular state, it does not mean that we as a people reject the reality of an unseen
spirit or the relevance of religions to life or that we exalt irreligion. It does not mean that
secularism itself becomes a positive religion or that the state assumes divine prerogatives’.
Which one of the following is best implied in the passage?

(A) Indian secularism is a religious, irreligious or antireligious

(B) Indian secularism is perfectly compatible with religiosity

(C) Indian secularism does not recognise the importance of religion in the
public space

(D) Indian secularism is not required to give each religion equal consideration

(E) Answer not known

ereumeusoreummlev 6T FmLiLimss LUSFH U6 @MUl B eTerg?
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@BHWIT (H IDSEFFTFTLMM BT, 6M60TSH S DG HBISEN6TULD FIOMS IDH SR MS! LDMHMILD
aTHERHG FIO UTUILILISG6T QIPBIGHRMS 6Tl 196160 CHIH 6TWRHTTT. s
@QBSH W melledr QeTMTHLUSWTES @UBHS JTSHTH (H61600T60T “"LD&H&ETTHIW [HITLD & 600Te & (&
Qaflumrg owelluflear WSMISSMSCUWT VUG  QUTPGHMESEG DS MmIGereor
QUMHSHHMSCWT BIFTHFGEHCMMD, Vg WHHMS S UWFTSHSIHECMTD, e6rerml
FTHHV6V IDGEFTTLN6TennCU 62 GBI LD6MMUIITET L0GLOTE IDMMNITR MG 360608 | T&
Qoulefs o flemnsemem  gHMIGQSHTHTHMS 6TeTm  ATSHSMD  Gevemev”  6TeTml
QauefllIL@ &S eoTT.

(A) @bHw wgseTillaramn aTUg @G WG, WHFEFTIUDMD s WGSHNHEG

TEIMeTS
(B) @8 W ns55TTLI6Temnn IDS6UTEHESIL 60T (LD(WEMLDWITS 5 SILICLTRMSI
©) @p®w wsFemilarenn QuUTE  Qelafluley WHEHHT (WNEHWSSIOGHNS

MBIl all60emev

(D) @BH W DSFFTTLI6TenLD 6T60TLIG 26UG6U T DG E NS ULD FLONTSHS & ([HSH G6u6vorLq.lLl
SR WLS6Lem6y

(E) allemL s flwealevemey (CCSIP/22)

118. In which annual sessions of the Indian National Congress made the historic ‘Purna Swaraj’

declaration?
(A) 1907 Surat (B) 1920 Nagpur
(C) 1929 Lahore (D) 1940 Karachi

(E) Answer not known
@QBHW CHFAW SMTHRGRTeV 6THS evor(h Awialley aigeummm AU Ess "L, Teor
FWITY MlGensHamwl GQeueflulll L gl

(A) 1907 &US (B) 1920 pr&LT
(C) 1929 euMEa} (D) 1940 &pm&d
(E) allemL s flwelevemev (CCSIP/22)

119. Who was selected as the President of Council of Action, which was constituted by Tamil Nadu
Congress Committee to execute the civil disobedience in 1930?
(A) C. Rajagopalachari (B) S. Sathyamurthi
(C) T.S.S. Rajan (D) T. Prakasam
(E) Answer not known
1930 91D e00T(h SLLPBIT(H SMTHEIG T SO IQUITE FLLIDMILIL] @)USHHESS 06T L5655
QFEWMNGWS S6VaUTTEHES CHIHOSHH&HSHLILIL LT WIT?

(A) C. @umgCsmumengamflwumg (B) S. 558 weniss)
(C)T.S.S. @umeger (D) T. Ygsneid
(E) allemL s flwelevemey (CCSIP/22)

120. Which of the following statements is true about human races?
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(i) The races is a group of people with more or less permanent distinguishing
characteristics

(il)) Human races are classified in 7 blood groups

(iii) The races are identified and classified absed on skin colour, stature, shape of head, face,
nose, eye, type of hair and blood group

(A) (i) and (iii) only (B) (i) and (ii) only

(C) () only (D) (i) and (iii) only

(E) Answer not known

LY eTeuLd Fonmmisserflev eTemeu 06vflE @) 6T emeTl] LiMmIWw &FiflWmesT dummiser?

(1) @ eTHRIGET 6TeTLISI B SHITHCEUT SV6VS! &MeUTECT BITHST 6018 S meT
LI600T L| 86016118 Gl&T600TL 62(I1H (LD 6UMTGSLD

(il) wefls @ETHIGET 7 @QTHS aUen&HS6TTE LIfleasLIuL(heTeTer

(iil) Gmmedledr BIMLD, 2 WFLD, HemevWl6dr aUlQaILD, (LN&LD, eLNEE, 5600T, (LN eUEM & LDMHMILD
@QUSs auemns R WemMIeT QLU UN6D @)6THISET 3i6emLUIMTETID SmevorLiLL ()
U6 &L (D & & L1 (H) &) 60T M 60T

(A) (D) whmib (jii) L @b (B) (i) wmmib (i) L @b
(©) (i) LL@D (D) (ii) wmHmid (iii) LI Gib
(E) allemL s flwealevemey (CCSIP/22)

121. The Stupa at Amaravati is a best example of what?
(A) Nagara style of architecture (B) Vesara style of architecture
(C) Mughal Architecture (D) Dravidian architecture
(E) Answer not known

rmauGuwilsyeTer evarll e1&ME& FMHS 6THSHIGHHTL(H?

(A) BaIUILMEDN & &L 1G L 8 86m6V (B) GauspLiumenol1&s &L 19 L 885606V
(C) Whsmeumws &L 1L &&606V (D) S gmedlL& &L 19L& 8606V
(E) allemL s flwelevemey (CCSIP/22)

122, Choose the right matches among the type

1. Vedantins - Brahma

2. Naiyayikas - Arhat

3. Jaina - Creator

4. Mimansaks - Karma

(A) 1 and 4 are correct (B) 1 and 2 are correct
(C) 2 and 3 are correct (D) 3 and 4 are correct

(E) Answer not known
Q&EMH &SI LeTeuMMI6ET SFiflWMeT QUIMTHSSMHISG6TS CHTHOSHH &5 6|

1. CausMhHH &6 - gwm
2. empwmuilser - Tams
3. Q6T - LD L LILITeIT
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4. SIOMTDEFST - SO

(A) 1 DOHMILD 4 FflwmeTemneu (B) 1 nmmiid 2 Frflwimeremeu
(C) 2 nmmib 3 FiflwimeTemel (D) 3 nmmih 4 Fiflwimeremeu
(E) allemL s flwelevemey (CCSIP/22)

123. Which of the following statement is/are correct?
1.  The universal declaration of human rights was adopted on 1948
2. Article 10 says that all human beings are born free
3. UDHR has altogether 32 articles
4. UDHR was adopted by United Nations General Assembly
(A)1,2,3and 4 (B)1,2and 3
(C)1and 4 (D)1,2and 4
(E) Answer not known
FECL QHTHESLILIL(H6TeT 6Tgl/eTemel &Fiflulmeorai?
LesteotTL_(h) oeoflg 2 fleminseT &Ll iL(QSSLILL L p6v0r(h) 1948

2. al% 10Q)60T LG N6l TSH6T emeTal(hlD &SHHE TINMSLI LNmIHE 6T 86T

3. uetermL () neoflg 2 flemingeT LIgsLerid QLm& S 32 eNH & 6m6eTd G\ & MeoorL

4. 9&HW BMhH &6 lar QuUMsFFeal Latearml( g o flenngear LJsLearsens
6T D M1 &G & T600T L&l

(A) 1,2, 3 OOID 4 (B) 1,2 opmitb 3

(O) 1 bhmib 4 (D) 1, 2 bHMID 4

(E) allemL s flwelevemey (CCSIP/22)

124. Match the following constitutional articles related to Chief Minister of a State

Subject Matter Article No
(a) Council of Ministers to aid and advice
The Governor 1. 164

(b) Other provisions as to Ministers Conduct

Conduct of business of the Government of a

state 2.166
(¢) Conduct of business of the

Government of a state 3.167
(d) Duties of Chief Minister with respect

To furnishing of information to

Governor etc 4.163
LDTBl6V (LNSEVENNEFT QGTLILMTET HLDE ST HTFaLiL] & semneTl] QUITHS SIS
QUMBSH S5 rFemnliL] &) eTevor
(a) @LEBHHEHES LMHMILD 3GV ITFNEIT FonMILD

OMEFT G 1. 164

(b) QM EFTH6T QFHTLIUMTeT LM DFHIGET 2. 166
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() LDMBlev TFTHIG G F60T 2] 6V16)60IEV

HL &S5 60 3. &6y
(d) LrElev EPBHESGS SH616 Qflalls g6

2 eTefll L Waevemn&&ifleor Lieoofl &6 4.163

@ b ©© @ @

A) 1 3 2 4
(B) 2 4 1 3
© 3 2 1 4
D) 4 1 2 3
(E) allemL s flwelevemey (CCSIP/22)

125. Quantum nature of light is not supported by the phenomenon of
(A) Compton effect
(B) Photoelectric effect
(C) Emission and Absorption Spectrum
(D) Interference of light waves
(E) Answer not known
&6 U9 60T G 6UTE00TL LD Q&5 T6iTen & FLD & & 60T LIQIMMIGT 678 &H6m &L ellemeren el alendamgi?
(A) srhLeT aflemerTey
(B) eerfldletr alemerey
(C) 2_1dlpeu BlMDTEm6L LDMMILD 2 1 &6lf BIMLDTEn6V
(D) sperfl gjemevssefler GmisSL 6 ellemerey
(E) allemL s flwelevemev (CCSIP/22)

126. LPG is a mixture of

(A) Ce¢Hi» + CsHe (B) C4H10 + C3Hs
(C) C.H, + CoHo (D) C.H, + CH,4

(E) Answer not known

LPG (emnWwi6v 6Tiflaumuy) eTeorLIy &H6V60)6) WIMGLD
(A) CeHio + CsHp (B) C4H10 + C3H3

(C) C:H, + C.H. (D) C.H, + CH,

(E) ellemL s flwelevemev (CCSIP/22)

127. Match the organism correctly with their corresponding order

(a) Apis 1. Haplotaxidea
(b) Leech 2. Cyclophyllidea
(¢) Earthworm 3. Hirudinea

(d) Taenia 4. Hymenoptera

2 Wifleorgens jeummleT QsTLTLemL W euflengFw et FflmesL QUTHES S LD
(a) G eof 1. @OMLIG6VITLT&H 60 &FLQ.UIIT
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(b) o1l em 2. & &HGemmaLNevedliguirm

(¢) wevorLw 3. el mLg.eoflwim

(d) mrem yw 4. aMLNG6oTTLIQ LT
@ b ©© @ @

(A) 1 2 3 4
(B) 2 4 3 1
© 3 2 4 1
D) 4 3 1 2
(E) allemL s flwelevemev (CCSIP/22)

128. The government has initiated the following key aspects for facilitating the MSME sector :
1. Access to credit
2. Access to market
3. Technology upgradation
4. Social security for MSME sector employers
Select the correct option
(A) 1and 2 (B)1,2and 3
(C)2and 4 (D)1,2,3and 4
(E) Answer not known
MSME @6t S1emmen il 616G MTHGUSMES TEFMTMHIGIND LN6Tal(hlDd (NHS U |IDFBIG6TS
QG ITLMBIS U 6ol
1. &L_60T 6001560
2. FHNGS I TVIG6V
3. QaTPlévmL L GG S5 H6V
4. MSME @6t glemm 26mSIUIF&HEH ST Fend LUl LIMSISTLUL

(A) 1 HmuDd 2 (B) 1, 2 b 3
(C) 2 npoud 4 (D)1, 2,3 OO 4
(E) ellemL s flwelevemey (CCSIP/22)

129. Which one of the statements is correct for Li-ion batteries?

(A) While the battery is discharging, the anode releases lithium ion to the cathode

(B) While the battery is discharging, the cathode releases lithium ion to the anode

(C) While the batteryis charging, the anode releases lithium ion to the cathode

(D) While the battery is charging, the cathode doesn’t releases lithium ion to the anode

(E) Answer not known

Li-ojwienfl GUILLfl15565 8 &/ 1016018606018 65 5 & LI6TaUBLD SnMMIG6TI6V 618 & iflWmeorg?

A) cuLLrl Werellm&ésd e bCung,  Li-oiweflser  oCearmiqedhal
CHHCHTHEE el ILG&S M

(B) cuLLyl UWderesfllmésnd e buns Li-giweflser CaHsCsHMIgedmbs!
2,CerTI MG QauefluI_LiLG&H Ml
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(C) GuLLm 60T GeOTMHMLD SlemLWLbBUIMS Li- 9w eofl s 6T 2,CeuTTIg.60 (BB S
Cx5C5MHEE QeausWILLILGRMmS!

(D) GuLLyl UWerCGermmld L wbGumgk  Li-gjweflser CaHS5CHTI N mbHS!
2,CermIg MG QeuefluiLLiLi(heuFH6vemev

(E) allemL s flwelevemey (CCSIP/22)

130. The Beneficiaries of Moovalur Ramamirtham scheme are

(A) All primary school students

(B) Girls students who are studying from 15t to 5t Std

(C) Girl students who are studying from 6t to 12t in government schools

(D) Girls students of first generation in schools alone

(E) Answer not known

epeusry @UrmumilGSLD ALenwWny Hel 2 HGOHTE QUMS & &S WImer

Liuleormerfl & 6i

(A) siem6eTH G L TDLILILETE] LDTeooTe) 785 6T

(B) 1 W&6L 510 auGLIL euemy LIuleid omeooredwlify

(C) 6 Ws6v 12-1D QUGLIL auen T SIS T&L LeTefleserfley LiuleTm @e6Tiul L eu@GLiL
alemy LIullawld Lomesoredlwliy

(D) ueiterflggmevadl LILIaILD (L& 6V Hemev(Lpemm Lo mesoredl Wy oL (LD

(E) allemL s flwelevemey (CCSIP/22)

131. Match the following

Health Programmes Aims/Goals

(a) Tamil Nadu Health System Reform Program 1. To provide modern and sophisticated
health care facility for poor

(b) Tamilnadu Health System Project 2. To improve the health outcomes of
urban poor

(c) Chief Minister’s Comprehensive Health

Insurance Scheme 3. To improve the health of lower Socio-

economic groups

(d) Tamil Nadu Urban Health Care Project 4. To achieve SDG-3
B &5 MTevoT LIiMem ML QUIT([HS S5
FHTHTIS FL_LMBIG6T S0 &C & M6 6T
(a) sHIDBETE HF&HTHTY SemOLIL
MG LenoliLg S L LD 1. @MMLIG6VITLTEEM & LG WIT
(b) s0PBEIMH FHEMHTT SemnliLg HLU L LD 2. bS] genpsefler 9 CITEHESR IS S
2 Wiss

(0) wsevemngsifler ellifleumer U BH\S
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S LD 3. FANG&G-QUTHEMTTHTT S(H&&H e HELp
o eTemausefledr  oCITEHWSMS

2 WSS
(d) s0LBETG B&HT &HETHTIS S LD 4. SDG-3-83 o6t
@ b ©© @ @
A) 4 3 1 2
(B) 2 4 1 3
© 4 1 2 3
(D) 3 2 4 1
(E) allemL s flwelevemey (CCSIP/22)
132. Choose the correct matches
1. Art 371 - Provision with respect to the states of Maharashtra and
Gujarat
2. Art 371 A - Provision with respect to the state of Nagaland
3.Art371D - Provision with respect to the state of Andhra Pradesh
4.Art371 H - Provision with respect to the state of Tamil Nadu
(A) 2 and 4 are correct (B) 2, 3 and 4 are correct
(C) 1 and 4 are correct (D) 1, 2 and 3 are correct

(E) Answer not known
FLLID QarLiuUmer FlwmeT QUTHSSBIG&GemeT GHF6a Q&Fulwea]lh

1. el 371 - LDQMITFTEG 1 TLD LMD GTT8 LB 6VhIg6T
Q&TLJUM6ISI

2. all® 371 A - BTV HS! LOTBIEVD QG TLFLIT6TS

3. efl§ 371 D - 2 BHTITCHE LMEBleVLD QS TLTLTETS

4. e0® 371 H - SO BTE WIBleVD QS TLTLTETS!

(A) 2 nmmid 4 FrflwmeTemney (B) 2, 3 nmmilb 4 Frflwmeremel

(©) 1 LMD 4 FflwimeTemeu (D) 1, 2 nmmib 3 FiflwimeTemel

(E) allemL s flwelevemey (CCSIP/22)

133. Which chapter in Thirukkural reflects the Northern Scholar’s ideology of philosophical

knowledge?
(A) Not Killing (B) Instability
(C) Renunciation (D) Understanding the truth

(E) Answer not known
QILBTeMfledT "SH&HEI6 @HTETD” 6l6Illd &HHHMS (P6TerllMGHIND  F(HEH G merfleor
B EHMTENH S &60oTL M5

(A) Qs meveVITEMLD (B) mlemeuwimenin
(C) amey (D) Qo 2 60T I8 60
(E) ellemL s flwelevemev (CCSIP/22)
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134. Which of the following titles are related with Pandyas?

135.

136.

1. Minavar 2. Villavar

3. Kudavar 4. Panchavar

(A) 1only (B) 2 only
(C)1and 4 (D)2 and 3

(E) Answer not known
NedTeu@bLd LIL L M1&6rfl6L LIMeorLq Ul LD6OTE0T 78 @B L 60T Q&L ITLI6DL LIS 6TSI?

1. LSeoTEUTT 2. elleveveuy

3. GL6uy 4. LighFauly

(A)1 (b (B) 2 nL_(p\bd

(C) 1 hmib 4 (D) 2 poitd 3

(E) allemL s flwelevemey (CCSIP/22)

Match correctly the Excavated information with the Excavation sites

(a) Thanjavur excavation 1. Roman Pottery

(b) Kilaiyur excavation 2. Centre of Buddhism

(c) Tirukkampuliyur excavation 3. Commercial contact between Rome and
Tamilagam

(d) Uraiyur excavation 4. Culture of Kaveri

3G5D6)]| (QSTQUTIHET) TTUFFRUNET LI WHMID emal HHL H&HaI60&HETT(H
FflumeraumenmL QUIT[HS S!S
(a) BEHEFTLT ASHLDAUTTTUIFS 1. GmLOmestIW 0L LITeDoT L6l & 6iT
(b) BempuWlT &SLDAUTTTULIFS 2. 465 DG emloWlld
(¢) D&EsHLLNOW,T S&DaImTmFs 3. GmwmeflW®&H G SLILPFTHEHEH G
@ e G 2_6T6rT aU6ooile Q&ML
(d) 2w, i 9I&paITITUIEFS 4. &MCauflufledr HeumFSFMILD

@ ® @ @

A) 1 2 4 3
(B) 3 4 2 1
©O 4 3 1 2
(D) 2 3 1 4
(E) allemL s flwelevemey (CCSIP/22)

Choose the right answer :

Which of the following statements are true about the Cholas?

1. The first mention of the cholas is in the Asokan inscription

2. They were independent rulers in Tamilagam

3. Kanyakumari Inscription and Anbil Plates give information of the early Cholas
(A) 11is correct (B) 1 and 2 are correct
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(C) 1, 2 and 3 are correct (D) 1 and 3 are correct
(E) Answer not known
Fflumer ellemLenws CHTHOSHH &5
FECL QHTHSSELILIL (B 6TET TSR WSH 6L CEFMPIs6T LmmMiw Filulmer aumsSH LS enss
Fa IS
ICEFMH HVRGIL 196V CFMLLFT&H6T LIMM (LNS6V (WemMUWTEH GMILILNL LU (H6Teng!
SUPGEEH O GHHHT STEFTH S 6UTaH6T el6rTBIG 6orT
Seoteo MGl HQeul (HI&G6eT WHmID Herllev Fnser@pd CEmpser Lmmlul
B&H6IEM6TE FoMIH M

(A) 1 G\ FflumeTg (B) 1 nmmild 2 siflwimeorgl
(O 1, 2 nmmid 3 FflwimeTsl (D) 1 nmmib 3 Frflwmeots
(E) allemL s flwelevemey (CCSIP/22)

137. Find the area of an equilateral triangle whose perimeter is 180 cm
(A) 1558.8 cm?2 (B) 1885.5 cm2
(C) 1585.8 cmz2 (D) 1888.5 cmz2
(E) Answer not known
180 Q& .15 &MHM6TE| G& 60T 62(IH FLOLIG S (DSBS ME0TEFH) 60T LITLIL| &IT600TS

(A) 1558.8 Q&.152 (B) 1885.5 Q&.152
(C) 1585.8 QF.152 (D) 1888.5 Q&.152
(E) allemL s flwelevemey (CCSIP/22)

138. The CI on 15,000 for 3 years if the rate of interests are 15%, 20% and 25% for the I, IT and
III year respectively is
(A)X 10,875 (B) X 10,785
(€)X 10,885 (D)X 10,775
(E) Answer not known
L IT o miid ITT o,600T(h & 65 & & M6t UL 1 655 MIGH6T (emmEU 15%, 20% mmilh 25% eTeoflev
%15,000-5 3 2,001 (HHG HeMLHGLD QUL 1q &HITe0oT

(A) X 10,875 (B)X 10,785
(C) ¥ 10,885 (D)X 10,775
(E) ellemL s flwelevemev (CCSIP/22)

139. Which of the following statements about GST council is not true?
1. The members of the GST council choose one amongst themselves to be the vice-
chairperson of the council
2. Every decision of the GST council shall be taken by a meeting of not less than two-third
of the weighted votes of the members present and voting
3. One-half of the total number of members of the GST council constitute the quorum at its
meeting
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(A)1and 2 (B)2and 3

(G 1and g (D)1,2and 3

(E) Answer not known

eSleTenvlq &6 6eoTFI6L LMW LIedTeUHLD )& 6018 861160 651 2_600T6m L0 UIEV6V?

1. glereivly HaeTHel 2 MILILNTTH6T SHHIGfle) Q@eUenT &6 eTEF 0T SHieneoors
VAT TS CHT6 QFWURMTIEH6T

2. blereivly &6 T R6UQEUT(IH (DD SHeVHS GG&TETERLD WMMID IS &6 & EGLD
o mlSeriseaflar  aums@seflev  epermley  @revor( LUBHMHGEH GSoOmUTs
Fnl LHHMeL T(HH&HLILI(BILD

3. gletenulg &6 eTFIeN6T QLTSS 2 miLILNeT s 6rfler eTevoTeooll&emnasullev LIMS CLIT )& e6oT
Fal LEH 6L GHMbG eTevorevol1 &6 s ullevmest HLIGT LIMIEG QLT

(A) 1L @ 2 (B) 2 nmoitb 3
(C) 1 wmoubd 3 (D) 1,2 nmoib 3
(E) allemL s flwelevemey (CCS1P/22)

140. Which of the following statements about Index of Industrial Production (IIP) are correct?

1. The IIP is a key economic indicator of the manufacturing activity in various sectors of
economy

2. IIP data is regularly published by Central Statistical Organisation (CSO)

3. The base year for IIP is 2011-12

(A)1and 2 (B)1and 3

(C)2and 3 (D)1,2and 3

(E) Answer not known

Nesraud oinfldemsserfley, Qs mpevgienm 2 mugsHuiler aflensg (IIP) ummlw &iflwmeor

M) 6TSI7?

1. (IIP) eretr®l, LGN QUITIHETTSTT Hlemensefledr 2 MUSH HL 6L & 6em &8 6reor
WERW QUTIHETTSTT &M TL LG WITELD

2. IIP speyser wHEHW yeraflulwer emwli (CSO) - M QSTLIGBSI
QauefllILLILG& M

3. IIP &&meor g LiLemL 3600T(H 2011-12 4G LD

(A) 1 npmib 2 (B) 1 opmilb 3

(C) 2 oHouid 3 (D) 1, 2 DOMYILD 3

(E) allemL s flwelevemey (CCS1P/22)

141. Who was arrested by the British Government for the Bomb explosion on 1933 at Srivilliputur
Police Station?
(A) Sathyamurthy (B) Parthasarathy
(C) Kamarayj (D) Ananthakrishnan
(E) Answer not known
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142.

143.

144.

1933 3LlD sLeoor(h) WfelleLedLSSTT SHmauey BlemeuSH 6V Q6L &6e0oT(H Q6llHEHSH MM
BIRCIW TEFM M&H G QF WL LT Wmy?

(A) 55 Weniss (B) umigsernd
(C) &smngmeg (D) 96011H %S (1 69,6007 60T
(E) eflev Qs flueievemney (CCS1P/22)

What is the title of the Doctoral Thesis of Dr. B.R. Ambedkar in 1923?

(A) The problem of the Rupee (B) Caste system

(C) Untouchability in India (D) Unbritish Rule in India

(E) Answer not known

1923 QLD 2L600TIQ60 GLOETTQ&MeooTL. LI&LT 9bCugsmifledr B.R. 9bGLG ST 6or
(peneraul LIL L SbulieNl6dT &emeuLiL| 6T6oTeor?

(A) emumullesr LNy&& emeor (B) & >jemioliL

(C) @bBewmallev &evorLmemLn (D) @pswmellev omSRCWT @6V6VTsS oL &)
(E) allemL s flwealevemey (CCS1P/22)

Asthamudi is an important lagoon of the coast

(A) Malabar coast (B) Konkan coast

(C) Cholamandel coast (D) Northern circar coast

(E) Answer not known

S|NVGITUNLY. 6TETM (NHHPUI SHITUIED &HLM&TUI &mevorLiLI(H & eTm S
(A) bevLIM BLMHEHEMT (B) Q&g mevor &L M&6em

(C) GEMLPLNETITL_ 6V HL_ MM (D) euLsIsny sLmEHT

(E) allemL s flwelevemey (CCS1P/22)

Which of the following statements are true about population growth of India?

1. Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa, which constitute 44% of
the total population of India in 1996

2. Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa, which constitute 48% of
the total population of India in 2016

3. these states contributed 70% of the total increase in population of the country during the
period of 1996-2016.

(A) 1 only (B)1and 3

(C)1and 2 (D)2 and 3

(E) Answer not known

@BHWTeler N&ESL Q5TMs aleTiFR LUmnlw NeTau@bd Fonmmisserflev Fiflwmerene

6T6m6U?

1. sy, 2 58r50lr6ssd, wsHWNTCsHaFd, @ImRevsgmer mmib flFm, 19966V
@BH TN QMES &S Q5TansWIe 44 F&56I51D 9L G LD
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145.

146.

2. Usny, 2 58750lyeCssid, wsHWITEsHED, @IMRevsmer mmmid eflFm, 201660
@BHWTN6T QMHS &S Q5T F&HaisD 9L GLD

3. 1996-2016 9lh &MV HLLEHO BILIQ6T QOMTHS WESL Qsmams AT &KL
GLOMB600TL LOMIBl6VMHBIGET 70 F&H6ISHLID LiMmige6rfl &g 6ot

(A) 1 L B2 (B) 1 bmmib 3
(C) 1 HmILD 2 (D) 2 b 3
(E) eflev Qs flueievemney (CCS1P/22)

Which of the following statements are true about Buddhism?

1. Buddhism denied the authority of Vedas

2. Buddha’s teaching were largely based on Brahmanic ideas of Punarjanma, Karma and
Moksha

3. Buddhism was not practical and ethical

4. Buddhism accepts God as creator

(A) 1, 2 and 3 are correct (B) 1 and 2 are correct

(C) 21is correct (D) 3 and 4 are correct

(E) Answer not known

Frflumer ellemLenwsd CHTHOSH[H &8

@Eps GMIUILLIUGUamMIeL QUeTSS WS GG FlWmeT gamenm CHIe] Q&FUls%s

1. QUETESID GeusmiIGeT e & E&sHSHmS LDMIGHMS

2. QUITEE GCUTHMETHET WMILIMUIL, GCUILFLD, &FLT w&Hw  LFmneors
&H([HSH S &HHE06T |1 LILIMLUITEHSH Q) &IT60oTLGI

3. QUETSSID HML (WO HMILD QBMIWEDW DS

4. QUETESLD HLaemeTLl LIenL LILIGUTTS ¢ HMISHE&TeTHMmS

(A) 1, 2 bHaID 3 &S] (B) 1 npoiid 2 &ifl

(C) 2 L @b &1l (D) 3 wpmitd 4 &if

(E) allemL s flwelevemey (CCS1P/22)

Assertion (A) : Rule of law entails that all persons, both public and private institutions, the

state and other entities are accountable to publicly promulgated laws

Reason (R) : The rule of law forms the base to international peace and security, and it is
at the core to protect people’s rights and their fundamental freedom

(A) Both (A) and (R) is true and (R) is the correct explanation of (A)

(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

(E) Answer not known

Famol (A) ! FLLSH T QL& eredTlg WMHMID Seoflwmy BloieleTmhigefley 2 aTer
ImeTaU(BHLD WMHMID Sps LHmID Lm BlmIeIeTHBIGSEED D&S&HETTEY
QUWMMUIULL FLLSHMS G LITmILILITEOTe T 86T
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&rgeord (R) : FLLSH 60T 9L & eTadoTLIG LIeTeTTL (B 6D LoMMID LIMSISTLIL]
QLI uley 2 (Heumeral. G & &G erT 2 flemngsemerud
Saurserfler QLI &HSHHISHMSW LD STLILG (&S WL aaTH mal

(A) (A) wmoid (R) &1, (R) - gpeora1 (A)-60r Frflwimest edlemdssLn.

(B) (A) wmmiid (R) &1, (R) - ayeoral (A)-eor Fiflwimeot eflemd:a1n 2j6v6v

(O (A) &1l ayeormev (R) Geum

(D) (A) seumi apeormev (R) &ifl

(E) allemL s flwelevemey (CCS1P/22)

147. Need for a constitution for free India was first suggested by
(A) Motilal Nehru (B) M.N. Roy
(C) Subash Chandra Bose (D) Mahatma Gandhi
(E) Answer not known
&EHIHT @QBHWTANHG @ ArFablilgd &Ll Geleor(hld 66l  (WNSH6S6L

uflbaienrsseun

(A) GumrHevmev GH(H (B) M.N. gmuJ

(C) srumaq FHH T GLIMTEq (D) n&rsm srbns

(E) eflevL Qs flueievemney (CCS1P/22)

148. In a modern Democratic state, citizenship is a
(A) Natural right (B) Legal Right
(C) Statutory right (D) Fundamental right
(E) Answer not known
&([H HeNeoT DG GEHETITLG BITL 196V, GL9W|flemLn 6T60TLISI

(A) @umens 2_flemin (B) 5L 2_flemin
(C) prLmEBLeTMmEF FL L 2_flemin (D) @i liuemL 2_flemin
(E) allemL s flwelevemey (CCS1P/22)

149. The primary contaminant included in cigar smoke is
(A) Carbon monoxide and dioxide
(B) Carbon monoxide and Nicotine
(C) Carbon monoxide and Benzene
(D) Dioxicine and benzene
(E) Answer not known
FHQTL Lemnd UL 2 6T6m (LNS6eVBleney DTS
(A) smiyUeT GLOmeTT&HemME(R) LDMMILD DL 28605 (b
(B) smyLesT GomenTm&en & (h LMMILD B &G TLq.60T
(C) &smyuest GLmeTmT&Hem&(h) LoMMILD GLI6TS) 6oT
(D) e85 emn&F 6ot LnMMILD GLI60T ) 60T
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(E) allemL s flwelevemey (CCS1P/22)

150. When a ball is projected upwards there is an increase in its
1. Potential Energy
2. Momentum
3. Kinetic Energy
(A) 1 only (B) 1 and 2 only
(C) 2 only (D) 2 and 3 only
(E) Answer not known
Ubengd GG eaMWbCUTE: 98 GG QFLHEME JUOUTWS UbBH6v
G LD 8 85600T LU MHMIGT 6T%H AP &FlEHMS?
1. BlEMEVWITMHMED VLG &FTEHS WLILDITET M M6V

2.2 LD

3. Q&S MMEV

(A) 1 (b (B) 1 nmmiid 2 i (HIb

(O 2w (D) 2 nmmith 3 L (IO

(E) eflevL Qs flueievemney (CCS1P/22)

151. Which is the one considered to be more important to study the History of science is
(A) Antiquarian curiosity
(B) Logical reasoning
(C) Scientific knowledge
(D) Conjunction with philosophy
(E) Answer not known
gnjlallwiev augeummilemends SMHLIGH6L W& (D& WILDTETSTHS & ([HSLILIHILD 660Tm
(A) LULPDALTBET L5H 3 TaILD
(B) 5068 B WIS &ITT600T I & T600T6V
(C) simleflwev sinfley
(D) 853161531 60T @) e06uoTLIL|
(E) allemL s flwelevemey (CCS1P/22)

152. Which one of the following phenomenon cause adverse changes in global climate pattern and
wreak havoc world wide in the form of floods and droughts?
(A) Carbon Dioxide (B) El-Nino
(C) Tropical cyclones (D) Itai-Itai
(E) Answer not known
FELpE& 5 MevorLIaIM M6 6THS 60TMI, 2 608 IjaTalley, QeU6TeTD UML) 6TedTM 6lLaIMHIGH6TI6V,
Lellg SLUQaILIL emmsefley LIMSSImeT WmmmBI&GameT gHUBGSS, @umensLll
GUTLH6Y 56T Bl&H L& SITT60TNTS @) (H&HHMS?
(A) sflwidlev euruy (B) etev-mIGeorIT
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(C) Qauliunesorev @mmeuerf] (D) @LLmi-@L Limul
(E) eflevL Qs flueievemney (CCS1P/22)

153. Which of the following are correctly paired :

(i) KVK - Kisan Vigyan Kendra

(i) SAME - Sub Mission on Agriculture Extension

(iii) NSDA - National Skill Development Agency

(iv) ATMA - Agricultural Technology Management Agency
(A) (i), (ii) and (iii) (B) (ii), (iii) and (iv)

(C) (1), (iii) and (iv) (D) (1), (ii), (iii) and (iv)

(E) Answer not known
LY edTeupeusoreummlev eTa Fifluimes @) emeoorss & LILIL (D eTems?

(i) KVK - R\ & meor 6l(6h6hITedT GBI T

(i) SAME - Geuermevor NlifleUMTE:&5 SI60)600T [HL6)L]. 856005
(iii) NSDA - G W Hmest GLOLIML(H (P&

(iv) ATMA - alaugmw Q&THLEIL LI GLO6VITEUOTEnLN (LD 85600
(A) (), (ii) wooid (iii) (B) (id), (iii) b (iv)

(© (1), (ii) oHaLd (iv) (D) (@), (i), (i) woHmbd (iv)

(E) eflevL Qs fluaievemney (CCS1P/22)

154. How many number Ramsar sites are indentified in India till 15 August 2022?
(A) 82 (B) 78 (©) 75 (D) 70
(E) Answer not known
@bHWmelled  eTHHemeT  FUWETT @LMBISGET 15 &b 2022 6UedT
&Heoor Ll ILIL_(H\6iTermeoT?
(A) 82 (B) 78 ©) 75 (D) 70
(E) allemL s flwelevemev (CCS1P/22)

155. Match the following and choose the correct option related to ISRO :

(a) URSC 1. ISRO’s virtual space Museum

(b) ITTP 2. ISRO satellite centre

(¢) SPARK 3. Space science for school students

(d) YUVIKA 4. Technical training for ISRO staff

ISRO QsmLjumer SpsmeorLiamenm QUTHBSSH wmmih  Flumer  elenLemul

CaIHOS[H &H&H6] D

(a) URSC 1. ISRO’afletr eNlf&&au6v 6ru@LI6 LAW,F uwild

(b) ITTP 2. ISRO s1607600T8: G5 T6IT [BHlemeuWILD

(c¢) SPARK 3. ueiterfl nmevoTeu & @B &S meor elevorQ euer] = mledlwiev

(d) YUVIKA 4. ISRO afledr Licool1WIMmeTi&eh & 8 meor Q& midlevmIL LU
LWl
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@ (b)) (o
A) 2 3 4
(B) 3 1 4
© 2 4 1
(D) 4 3 2
(E) allemL s flwelevemey

156. Which is correct?

(d)

oW N -

(CCS1P/22)

(i) HYV-High Yielding Varieties

(ii) MSP-Maximum Support Prices

(iii) PDS-Public Distribution System

(iv) IPM-Integrated Pesticide Management

(A) (1), (ii) and (iv) only
(C) (@), (ii) and (iii) only
(E) Answer not known
615l FIflWimeoTgI?

(B) (i) and (iii) only
(D) (@), (iii) and (iv) only

(1) HYV-955 allemer&g6v S(IHLD 6160 &H 86T

(il)) MSP-99sULE 9576 allene

(iii) PDS-Qumg eNBIGWITS (Lnemm

(iv) IPM-emmISenenThs L,&FH &6 &HMeved GLo6vTeoorenLn

(A) (1), (i1) moid (iv) GO (B) (1) nmomitd (iii) WL @D
(©) (1), (1) wmmib (i) w @b (D) (1), (dii) wnmomib (iv) LG
(E) allemL s flwelevemey (CCS1P/22)
157. Match the following Acts with its corresponding years
(a) Madras Wild Elephants Preservation Act 1. 1882
(b) Tamil Nadu Forest Act 2.1980
(c) Forest Conservation Act 3.1972
(d) wildlife Protection Act 4.1873

LNeiTau@d FL L IGHen6T GCerm(H QSTLITLML Sbe0mH&HCeTT(H QUITIHS SIS

(a) DSV QUEDT WIME6OTSH6IT LIMSISTLILE FL_L LD 1. 1882

(b) 1B TMH eueTEF FLLLD 2.1980

(c) eueor LUMEHISTLLF FLLLD 3.1972

(d) euerr eNleVMBIGSH6T LIMGIGTLILIE FLL LD 4.1873

@ O® @ @ @

A) 1 4 3 2

B) 4 1 2 3

©) 2 3 1 4

(D) 3 2 4 1

(E) eflevL Qs flueievemney (CCS1P/22)
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158. Match the following

Tinais Their Gods

(a) Kurinji 1. Kali

(b) Mullai 2. Murugan

(¢) Marudam 3. Indra

(d) Palai 4. Tirumal

QUTHS S

) 6t 6o0T &HL_6)6IT

(a) eNlE& 1. &erf]

(b) wrevemev 2. (LP(HSH 60T

(c) L®SLD 3. @B& yeor

(d) umemev 4. B ([HLOIT6V
@ b ©© @ @

A) 3 4 1 2

(B) 1 3 4 2

<) =2 4 3 1

(D) 4 2 3 1

(E) eflevL Qs flueievemney (CCS1P/22)

159. Gandhiji established as ashram at Sabarmathi. Likewise an ashram was established in Tamil
Nadu by Rajaji. Where was it established?

(A) Madurai (B) Vedaranyam
(C) Salem (D) Thiruchengodu
(E) Answer not known

STHHWIQSHET FLUTNG eT6iTIld @)L SH6V @ WH T 2 (HaumsHearmy. 65 GLMe
@rmerygl slN&EEF 60 @@ P TN 2 [HaUTEHRGTTH. THICH 360& 2 (HeUTHE 6T ?

(A) gl (B) Geaugmyevorulln
(C) Gzeuid (D) 850 smIGsHT(H
(E) allemL s flwelevemey (CCS1P/22)

160. Match the following books with their authors and find the correct order

(a) Ulagam Sutrum Thamilan 1. Desiya Kavi

(b) Gnanaratham 2. Swaminathan
(¢) Thanneer Thanneer 3. Ve. Ramalingam
(d) En Kadhai 4. A. Karuppan

uliguiev I-@6v 2 6Tem mILsGemeTll LLIquiey II-@6v 2 6Tem  mreum & flulfss Lo
QUTMBSS), G Q&TH&SLILILGeTer GMluTbhsemens Qameor(h Fiflwmer ellenamuls
CETHOSHH &S0

LCqulev I UL igulev I1
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(a) 2_6u&1D &HHMID FLolLpesT 1. G W& el

(b) epmeoTIS D 2. &MLl B TS 6T
(¢) sevoTevof 1) & 6voTEDOT [T 3. Qeu. @I MLNEdMmIGsLD
(d) eretT HEMG 4. 6. &(HLILI6oT

@ ® @ @

(A) 1 2 3 4
(B) 2 1 3 4
© 3 4 2 1
D) 4 1 2 3
(E) eflevL Qs flueievemney (CCS1P/22)

161. “Kavarum Kazhagamum Kaiyum Tharukki
Ivariyaar Illagi yaar” — to whom does the advice is said in this Kural?
(A) Guards (B) Ambassadors
(C) Ministers (D) Kings
(E) Answer not known
"SEUMID SHLP& IO M8 WD HHEHS
@eauMwmy @eVeusH WMH” — @& @M WMTHEH G M6 6T Sam&ma?

(A) smeusvisH6T (B) grslauisser
(C) e nEFIH6T (D) Goumsysset
(E) allemL s flwelevemey (CCS1P/22)

162. ‘A’ can finish a work in 18 days and ‘B’ can do same work in half the time taken by ‘A’, then if
they work together, then what part of same work they can finish in a day.

1 1 2 2
(A) 5 (B) P ©) - (D) P
(E) Answer not known
‘A’ e(1p Geusmeveml 18 BT Gerflev WNILERMTT. ‘B’ 9185 Gauemevemill (1p19.58 ‘A’ eT( &G LD
Bl geflev LUTHenw eTMSEHMMT ereoflev @@heu@d GFIHS @@ bmefley (WDIg&GLD
Geuem eI 60T 2|61T6Y 6TEOT6OT?
1 1 2 2
(A) 5 (B) P © - (D) P
(E) allemL s flwelevemey (CCS1P/22)

163. The side of a metallic cube is 12 cm. It is melted and formed into a cuboid whose length and
breadth are 18 cm and 16 cm respectively. Find the height of the cuboid.
(A) 6 cm (B)7cm (C) 8 cm (D)10cm
(E) Answer not known
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2 BUMHGHF TV 3,607 62(IH HEOTFFSHITEHH 60T LISS 366 12 QF .10, FHeneT 2 (H&HH 18 Q& .115.
Herd MHMILD 16 Q& LS. 3&HEVOLD 2_6T6T 6(H HETFQF6IAIGLD 2 ([HaUTHEILOQRMS. 2bHSH
FH60TE QF6UIEST 60T 2 W5 NSHE 55Te0TdH

(A) 6 Q&F.L85. (B) 7 Q&.L85. (C) 8 G&F.L5. (D) 10 Q&.15.

(E) eflev Qs flueievemney (CCS1P/22)

164. If price of a tea increased by 20%, by what percentage must the consumption be reduced to
keep the expense the same

2 2 2 2
(A) 155% (B) 165% © 175% (D) 185%

(E) Answer not known
CGawWlemevwlletr aflemev 20% AGH&FEHEGLEUTSE CHuUlemey LIWETUTLILET G&F6vey
DTMITN @@H&HES CHUNemeV LIWLETUTL LM THEHM6eT FHeIHIN GnmeSIs Q& meTer

Geuevor(HLD?

2 2 2 2
(A) 155% (B) 165% © 175% (D) 185%
(E) eflevL Qs flueievemney (CCS1P/22)

165. Akila scored 80% of marks in an examination. If her score was 576 marks. Find the maximum
marks of the examination
(A) 640 (B) 680 (C) 720 (D) 700
(E) Answer not known
AP @M Csialed 80% WHLIGLETHMETL QUMMTET. eueT QUOHME 576
S LI LIS 6T. HS CHTel6r QDTS S LOGF) LG LI6T0TE: 60)6T8 &IT600TE
(A) 640 (B) 680 (C) 720 (D) 700
(E) ellemL s flwelevemev (CCS1P/22)

166. The functions of Reserve Bank of India are
(i) Issue of coins and Bank notes
(ii) Banker to the Government
(iii) Regulating credit in the country
(A) (i) and (ii) only (B) (i) and (iii) only
(C) (ii) and (iii) only (D) (), (i1) and (iii)
(E) Answer not known
@BH W flerel aumis uler Q& wevLIm(H &6 Te 60T
(1) mmevoTWMISGET MHMILD LUl CHITL (R Qedeflul®d sHev
(i) rFmMmbsEHME QUBIRWTETITS QFWeLB S5
(iil) BITLI196V &L60T (LNEDIME6M6IT 62(LD I LI & &1 &6V
(A) (1) mouid (i) LD (B) (1) nmoutd (iii) @D
(C) (ii) moud (iii) L @ILD (D) (1), (ii) omoyuid (iii)
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(E) allemL s flwelevemey (CCS1P/22)

167. How many pairs are correctly matched?

Vaccine Nature

1. Pfizer - mRNA vaccine

2. Covishield - DNA based vaccine

3. Covaxin - Inactive vaccine

4. Sputnik. V - Viral Vector vaccine

(A) 1 pair (B) 2 pairs
(C) 3 pairs (D) 4 pairs

(E) Answer not known
6T H M6 GRMIY &6T FIlWMg QUTHESSLILL (D 6TeTeoT?

SOOI Q&FWeY

1. Pfizer - mRNA 5O\

2. Covishield - DNA sjiq LiLiemL_uflevmerr SO LIS

3. Covaxin - QewaBHs SO LIS

4. Sputnik. V - MEUT QaISLT SHLILLE

(A) 1G2mg (B) 2 Gmmig sert

(C) 3 Ggmig&ei (D) 4 Ggmig&er

(E) allemL s flwelevemey (CCS1P/22)

168. What are the pillars of block chain technology?
1. Transparency
2. Immutability
3. Decentralisation
(A)1and 2 (B)1and 3
(C)2and 3 (D)1,2and 3
(E) Answer not known
Liemms Q&ulleir QL &eoTmeueSlulledT Setors6elT 6Tem6?
1. QauerflliLenL_& &6Temin
2. IDMMIHE @LVVTSHSI
3. LITQUGLITE &S 6V

(A) 1 bHOID 2 (B) 1 opmib 3
(C) 2 awmmib 3 (D) 1, 2 bHmib 3
(E) ellemL s flwelevemev (CCS1P/22)

169. Which of the following act was described by Jawaharlal Nehru as the ‘Charter of Slavery”?
(A) Government of India Act of 1909
(B) Government of India Act of 1919
(C) Government of India Act of 1935
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(D) Government of India Act of 1947

(E) Answer not known

FLESHTERIN FLLMHIGH6T 678 19.6m0&6leT LIL LWL 66l &geuampeumel GmHeileormey
afleuflgasliul Lg?

(A) @bH W STFMHIGE FLLLD 1909

(B) @bH W S|psMhIsGE &L LD 1919

(C) @pH W FFTHIsSF FLLLID 1935

(D) @BP W SFFMMHIGE FLLLD 1947

(E) allemL s flwelevemey (CCS1P/22)

170. Which of the following statements about the citizenship Amendment Act, (CAA) 2019 are
true?

1. Citizenship will be granted to all the foreigners who lived in India for more than six years.

2. Citizenship to members of Hindus, Sikh, Buddhist, Jain, Parsi or Christian communities

from Afghanistan, Bangladesh and Pakistan who entered India on or before 31 Dec, 2014.

3. Members of specific communities will be granted citizenship within 6 years instead of 12

years
4. The CAA will help to the preparation of National Register of Citizens
(A) 1and 2 are true (B) 2 and 4 are true
(C) 3 and 4 are true (D) 2 and 3 are true

(E) Answer not known

Guwiflend H»sEsEF UL (CAA) 2019 ummlwl LNeTeu@d Fammisserflev e1gil/eTemel

2_600T60 LD U TEOT60Y6U ?

1. @BHwmeley 6 WETH&HEEHHESG G ITDHS S M6TsHS Qeu6flBTL 1Q6T(HEHEGLD
Sl W flemin aupmISLILGID

2. LUISMellengmedT, LIMISGaTTCHa] MM LITHevgmeflev @bhE eubg 31 1.&FWmU
20145 (WeT QHHWMTN@G6T HleOPHEH QHSISHHET, FHHWTHET, QUETHSTHET,
MYETIGHET, LMTTFR&GET evevg Slevgial Fepsmiseaflear 2 miliNerisenss s
&ufleno

3. GMUULL Fepshisamas GCFibhHaTHEHHG 12 oTHHEFHG LUHTEH 6
21,600T(H & @5 &G 6T &19.Uflenn aUpmBISLILIHILD

4. GUWESHalar CaAW LFIGaIL L swmflliusey CAA 2 ga|b

(A) 1 poId 2 &l (B) 2 npmid 4 &rf
(O) 3 whmitb 4 &ifl (D) 2 npmiib 3 &if]
(E) ellemL s flwelevemev (CCS1P/22)

171. Find the mismatched answer about the Indian Railway Zones

(A) Southern - Chennai
(B) Central - Jaipur
(C) Northern - New Delhi
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(D) Eastern -
(E) Answer not known

Kolkata

LedTeueueralmmieT @bHw Fullev@al netoTLeuld GMISH S HaUmMsL QUTHSSLILIL (H6Ter

aflemLemULIg &TeooT

(A) AzH6 -
(B) w5 wLES -
© aLss -
(D) Bp&6 -
(E) allemL s flwelevemey

172. Match the following
(a) Garo
(b) Kuki
(¢) Todas
(d) Miri

LY edTeu [HeuetTeu Mem MLl QUITIHS SIS :

(a) smGym
(b) 5a&
(c) GamLIy
(d) i

@ b © @ @
A) 2 4 1
(B) 1 2 4
© 1 2 3
(D) 2 4 3
(E) allemL s flwelevemey

= A W W

Q) & 60T60) 60T
QEQUILLT
L& Hlevedl
QHMTVEHSHIT
(CCS1P/22)

1. Assam

2. Mizoram

3. Tamil Nadu

4. Arunachal Pradesh

1. 3J6NVEVITLD

2. HNGFMyLD

3. AIRBIT6H

4. SjmeooTmEFeVLl LNFCSHFLD

(CCS1P/22)

173. Which constitutional amendment incorporated Puducherry in the Union of India?

(A) Tenth
(C) Fourteenth
(E) Answer not known

(B) Twelfth
(D) Twenty second

ThS STFOWLLILS HBHSSD LGFCFlew QBSH W @arBlusHe CFFsHSHe!?

(A) ugsTEG
(C) UG eTTETEMEUS
(E) ellemL s flwelevemev

174. Arange in chronological order
1. Sarkaria Commission
2. Balwantrai Mehta Committee
3. Rajamannar Committee

(B) wietrenflyevor_meugt

(D) @@®usSH ulFevorLmeug
(CCS1P/22)
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4. Administrative Reforms Commission

(A)2,3,1,4 (B)2,4,3,1
(©)2,4,1,3 (D) 4,2,3,1
(E) Answer not known

GLp 2 _6Temaumenms &mevalflensliL( &5 &5

1. FI&STIFIWIT 9b,6m600TWILD

2. LeLaUBSTMU CGHST & (WD

3. JITEQLOGOTEOTIT & (WD

4. BlIeUNTS ETHS(BSHS 2606007 WILD

(A)2,3,1,4 (B)2,4,3,1
(©)2,4,1,3 (D) 4,2,3,1
(E) eflevL Qs fluaievemney (CCS1P/22)

175. Choose the correct answer
The fundamental rights have been described as
1. The Magna Carta of India
2. The Conscience of the Constitution
3. The soul of the constitution
4. Inspiration from bill of rights of American constitution
(A)1and 2 (B)2and 3
(C)1and 3 (D)1,2,3and 4
(E) Answer not known
GECL 2 _aTemeummleSpH & siflwimer LIGene CHTHGOSH &80
QUL 2 flemnser @euaummnds afleufleaslLmR S M
1. @BH W n&&6rer 2 fleminserfler &mgeorin
2. SITFAWevemnnLILN 6T LneoTEF LG
3. TR WV LG0T 2Y,60TLOIT
4. QW &s rFwevenolililer 2 flenlngeT IGFTH Tl 2 5Gals 10

(A) 1 mHmib 2 (B) 2 nmmiih 3
(C) 1 Hoibd 3 (D) 1,2, 3 LHOID 4
(E) ellemL s flwelevemev (CCS1P/22)

176. The process of establishment of an organism in a new habitat is known as
(A) Ecesis (B) Migration
(C) Immigration (D) Coaction
(E) Answer not known
ef 2 Wil seral UGS W aumblL g5 6v setteneot allifle)iL(BIS SN Q& UI6 6TeTLIGI

(A) BlemevILI(H & S5 6V (B) yevIQUWFEFR
(©) sWimssLIn (D) gaallemreor
(E) allemL s flwelevemey (CCS1P/22)
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177.

178.

179.

180.

Which of the following characteristics of science is not true?
1. It is guided by natural law

2. It is testable against theobservable world

3. It’s conclusions are permanent

4. It is falsifiable

(A)2,3and 4 (B)3and 4

(C) 3 only (D) 4 only

(E) Answer not known

S mleNwed et LNedTeu(hLD LicoorL|S6rl6v TS 2_60oTemLDULIV6V?
1. @8 @QUMmend FL LG5 auldl BLSSILGRMS!

2. @& HTOTES I 2 VHESFH MG TH TS C&FMTH & EH LT QWS
3. QBT (D196 &6T BT THSTLOTET60)6U

4. @& QUITUWTHEHS Fnlq UG

(A) 2, 3 LOHOILD 4 (B) 3 npoiid 4
(C©) 3L (b (D) 4 nL_(p1d
(E) allemL s flwelevemey (CCS1P/22)

If ZEBRA can be written as 2652181. How can COBRA be written?

(A) 3102181 (B) 3152181

(C) 3182215 (D) 3182181

(E) Answer not known

ZEBRA emeu 2652181 ereor 6T &H6vmLD eTeormmel COBRA erLiLIg TS LILI(BILD?

(A) 3102181 (B) 3152181

(C) 3182215 (D) 3182181

(E) allemL s flwelevemey (CCS1P/22)
The instrument used to measure the atmospheric ozone concentration is
(A) Dobsonmeter (B) Barometer

(C) Hygrometer (D) Anemometer

(E) Answer not known
aUeILD 6T 6V & FH 6V 2 6TeT RCFMET L THFH el Sjemedl 2 LIGWTH &G smai

(A) GLmLIGEFmedT LSLL[F (B) uGpm SLLi
(C) emamsGrm L L[F (D) sjef1@om WL LI
(E) allemL s flwelevemey (CCS1P/22)

Which one of following statement is correct about the aim of Pradham Mantri Uijwala Yojan
(PMUY)
(A) to provide health Service and Clean Environment to Rural Women
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(B)to provide clean energy fuel of liquified petroleum gas to all rural
households

(C) to provide clean water and environment

(D) to provide quality food and health

(E) Answer not known

Hosn S flullear o seaimer Gwmgerm (PMUY) @6t (WwéaEHW CBMEsSemnsL1 LM

LNedTeu(pLD FommiG6rflev 6THS spedTml &FflulmeoTas?

(A) samsTrE Coemal WMMID HEHESOMET &HHMNIFG L) STmolLm W&6eflHeES
6ULPMHIS Geuetor(hLD

(B) siemanrs s Gomwlilm o H&sEh&HGIL Hraunmsasliul L &HeInmer QUi Grmedw
QUMW QLMMEY TFQLIMIHEDET 6ULDMHIE 56V

(C) &550MeoT H600T600I T LDMMILD &M MIE @O0V QULPMHIGS Geevor(hLD

(D) &85 0meoT 2_600Ted LDMHMILD S&HMTHTISHNS 6ULPMHIGS G6leor(hLD

(E) eflevL Qs flueievemney (CCS1P/22)

181. What are the Forms of Central Bank Digital Currency (CBDC) proposed to be introduced by
RBI?
1. Account-based
2. Token based

(A) 1 only (B) 2 only
(C)1and 2 (D) None of these
(E) Answer not known

@pHW fleje ams® MWsLILOSS 2 6TeT el aIBISUleT QUIBIST LleTersm
LI600TE; 5 60T 260D LIL| 8561 6T6U A TMITEOT60I 6 ?

1. QUBIHG 560015 G 21 LILIenL U6V Ters)

2. sjemLwimer efleuemev

(A)1 (b (B) 2 nL_ (b
(C©) 1 LMD 2 (D) @eummlev gaidlevemnev
(E) allemL s flwelevemev (CCS1P/22)

182. Assertion (A) : The desert region of India can be divided into two parts-‘The great desert”

and “the little desert”.

Reason (R) : Between these two deserts lies a zone consisting of rocky land and cut up by
limestone ridges

(A) Both (A) and (R) is true and (R) is the correct explanation of (A)

(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

(E) Answer not known
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Famml (A) : @B Wmaller LimenevalerTll LGS enwl @uevor(h LGS &6 mssLl
LN1&86e0mD-"QUIfl W LITemevel 6oTLD” LDMMILD “SINJlul LIMTem6val6oTLD”.

&rgeord (R) : @b @ LITEM6V66T IS 658 S em LGl LITemm Bleuld M mILD
Gr600T600TTLOL| & &6V (P& HI&HETIMT6L GleUL L LILIL L 6(H LO6DOTL_6VLD 2 _6IT6TS.

(A) (A) nmouid (R) &1, (R) - aueorgl (A)-eor Frflwimeot elemdssLn.

(B) (A) nmmid (R) &, (R) - eyeorasl (A)-6or &flwimet eflendasin Sj6u6v

(©) (A) &l syeormev (R) geuay

(D) (A) geugy apermev (R) &if

(E) allevL Gz flwelevemney (CCS1P/22)

183. Read the following passage and answer the item that follows :

Agriculture continues to be the backbone of the state economy, as it provides livelihood

security and food security. The overall crop yields in the state is bright. The South West

monsoon rainfall was normal and its even distribution helped to recharge of groundwater

considerably and kept the state with adequate storage. All these factors made the irrigation

scenario in the state encouraging. As a result more area was brought under cultivation. The

government also provided adequate and timely supply of inputs through its agricultural

extention centres. Sufficient and timely crop loans were made available for the eligible

farmers through primary Agricultural Cooperative Societies.

Which of the following is best implied in the passage?

(A) Agriculture of the state still remain a lifeline for the people

(B) Due to proper rainfall and government effort to provide agrilcultural loan
and inputs agriculture turned prosperity

(C) Primary agricultural cooperative banks play a crucial role in agricultural development

(D) Over exploitation of ground water to agricultural sector will affect the growth of other
sectors

(E) Answer not known

LNetTeupLd LUSHemULl LIGGH G M QSTLTHE el efleormalm@ ellemLwlierf]

LOTBleVL QUITBETTSTISS T (N&HQ&HILD LTS CaleTmeorenlnCul QSGMTLFHE 2 6Tengl. @ Sl

QUMDGMES QSTH6 LMSISTLImUWLWD WMHMID 2 6ore|ll LTSHSTLemUWLLD 6efléaHmsl.

wrmleoll Luly elemersgsy LNIsMEFLTE @UMHEHMS. QS5aTGIMEGL]  LHeaulnemLpLl]

QuUTlle] @WeILIMTHA|D SmaTsHs LUGH&eflald Fnmeg @b bleussly B

GSIULE56585 6Te] Wer BIFLLUlWg. Gaid MBleusH e CUTHW 6me] BT @ Ll

@ HHSHS. ©) 6061 LI 6D 60TE & &> &ITIT600T1 & @B LD GFrHal B umeeor GLO6m6V

o1& & LILMSH WG @56 alleneralms F & BlevmigeT LUl UL LeoT. 9J&b CUTHw

Geuermevor 2_eTet(h&enerd Fiflwimet GHISH v Cauermeoor ellifleMeH s MLDUIMBIGHET eLN6VLD

aIpBIGer. GUTH WeTe] LUNTSEsL6T sFflwmer GhIsHe S&GH W erer alleusmuilsens s

QBIMTLES CalaTTe Fal (hMe FMhISGMIGET eNEVLD KL 58 Uend QFWWLILL LS.

(A) rmlev CauaTmetoTemNGU INSHSHEHEHEG @) 60TmIN 2 UINFTLILTeNSUITS 2_6TemSl.
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184.

185.

(B) sflumenr wemplQuUmSleumanid, Geuermeoor 2 6Taf(H&6T OMMIID &HL 63T 6ULDMHIGH
STH T WM WIMeILD CeueTmerorenln Q& LAILILIEL [HSI6TETSI.

(C) Geuermevor ALINNBSH UL QSTLES CeueTmeo Fnl (hme] amS&G6T (N&HIW LIMIG
61U 5\ & ) 60T M 60T

(D) Geuermetoremln&g @& Blevsslq Hemy Wemswmsll LweaTU®SSIeus Lm sienmserfler
QUETIFF 6Ll LIMTH & GLD

(E) eflev Qs flueievemney (CCS1P/22)

Assertion (A) : When price decreases, purchasing power increases, and vice versa.

Reason (R) : When the production of goods decline, the price of goods increases and then
the purchasing power is affected

(A) Both (A) and (R) is true and (R) is the correct explanation of (A)

(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)

(C) (A)istruebut (R) is false

(D) (A) is false but (R) is true

(E) Answer not known

Famol (A) : aflemey GEMIBHS TV QUMBIGLD 655 AF&HEHMS HMILD @S
GBI LOMMITEOTS.

&rgeoorid (R) @ Qummefler 2 MLISH GHemmb G, ellemev H &IfILILSTEL 6UITHIGLD §Hmeor
UM &ELILGRMS.

(A) (A) wmoubd (R) &1, (R) - spe0181 (A)-601 Frflwiment edlemdssLn.

(B) (A) wnmmiid (R) &1, (R) - gy6er81 (A)-607 Fifluimeot elemd: oD oj6v6v
(©) (A) &l syeormev (R) seuay

(D) (A) soumy apermey (R) &1

(E) el Qaflueilsvemey (CCS1P/22)

Arange the following events associated with periyar in chronological order
1. Vaikom Satyagraha

2. Non-Co-operation Movement

3. Kallukadai Mariyal

4. Leader of Chennai Congress Committee

A)2,3,4,1 (B)2,4,3,1

(©)2,1,3,4 (D) 4,2,3,1

(E) Answer not known

QUlWMIHLET FLOUBSLILIL L Bl&Des&mers & alflenaliLlg euflenFLliLbG &5 60
1. MEUESHLID F&HHWTH TN

2. RS SHMPUITENLD @) UIGHELD

3. &H6TEh&HSHmL DML

4. QFTem60T HITHBIG T S LY Senevel
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A) 2,3,4,1 (B)2,4,3,1
(©)2,1,3,4 (D)4,2,3,1
(E) allemL s flwelevemey (CCS1P/22)

186. Choose the correct chronological order
(A) Rajadhiraja I, Parantaka I, Kulothunga I, Rajaraj I
(B) Kulothunga I, Parantaka I, Rajadhiraja I, Rajaditya I
(C) Parantaka I, Rajadhiraja I, Kulothunga I, Rajaraj I
(D) Parantaka I, Rajaraja I, Rajadhiraja I, Kulothunga I
(E) Answer not known
&mev eulflenaliulg Fflumereumenm CHIHASH/(WenmLILIB &SI
(A) @umarsrreer I, Lpmbsser I, GCunsgimaer I, @umermege I
(B) ®Cevnsaimiser I, Lpmbsser I, @umeamgymsear I, @uremrsHsswm I
©) upmhsser I, @rrarsrreear I, GG simisear I, @rmaermeer I
(D) ugrpsser I, @rrrmer I, @rremSrmeer I, &Ceuns Simigseor 1
(E) allemL s flwelevemey (CCS1P/22)

187. Match the following

(a) Thaarugan 1. Thaer Chakkaram
(b) Aazhi 2. Arakkan

(¢) Natriram 3. Thevar

(d) Imaiyavar 4. Araneri
QUMTBHSS&H

(a) s 6T 1. GBFF&HSTID

(b) @uid 2. 9|88 60T

(¢) BHMIMLD 3. Gzeuy

(d) @emwweuy 4. DB

@ ® @ @

(A) 1 2 3 4
(B) 2 1 4 3
© 3 1 2 4
(D) 4 3 2 1
(E) allemL s flwelevemey (CCS1P/22)

188. Read the following and pick out the correct statements
1. Musical Pillars is one of the wonders of the Nayakka King’s Rule
2. Music created by rhythmic hitting of stones is wondered by International Musicians
3. In the Thousand Pilalred Hall of Meenakshi Temple in Madurai, one can find small
pillars that exude music when played upon
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4. The Arthanaareeswarn Temple at Rameshwaram consists of Pillars than canbe played to
bring out the seven swaras (Notes)

(A) 1 and 2 are correct (B) 1, 2 and 3 are correct

(C) 1, 2, 3 and 4 are correct (D) 1, 2 and 4 are correct

(E) Answer not known

LNetTeupLd QSBMTLenTLI LI SHE Fflmerensd s C5IHO S M &6 0D

1. [BMTWES LDGTETI&HET 9L F1ull6L 2 (HeUTer emLDLIL] ©)60) &5 HT6T0TH6T b @&LD.

2. HEVEITEL @enFeml 6NWLILIID HemMeVEhISerler 608 6U600T6ooTD SHevoT(h), LiedTeormL_(H
SMET&HEbLD 6luwibg GUITHmIG 6Tmeo(.

3. gy Werml Flwibwer CGaHmulledey 2 6tem oLUNTMHIGTE D6vTL LIGH6V Liew SFm
SeOoTSHET 2 6Temer. @&V @RaIQeUTH Fm Frewid @endF 60 eawlileleanss
&ITEOOTELITLO.

4. @umGevalrld SISSBTFvaITT CHmulledey 2 6Tem Smeoorsefley 6w V6T HIG6T
RGEILGIMSEH C5L 560D

(A) 1 uHWILb 2 Fif) (B) 1, 2 nhoid 3 &ifl
(O 1, 2,3 HOID 4 & (D) 1, 2 DODILD 4 &if]
(E) allemL s flwelevemey (CCS1P/22)

189. The next tern of the alphanumeric series C4X, FQU, 116R, is
(A) K25P (B) L25P (C) L250 (D) L27P
(E) Answer not known
C4X, FoU, I16R eredtmeor 6T600TQ 600T (0G5S QS TLflev 9GS 2 mILIL|
(A) Ka5P (B) L2sP (C) L250 (D) L27P
(E) allemL s flwelevemey (CCS1P/22)

190. A mat of length 180 m is made by 15 women in 12 days. How long will it take 32 women to
make a mat of length 512 m?
(A) 8 days (B) 12 days
(C) 16 days (D) 20 days
(E) Answer not known
180 1 BempeTer @ LImTulene 15 GLI6voTSH6T 12 BT &6fle QFWigery. 512 1S BerepeTer
2 LIMTUIemeT 32 QLIGOITSH6T Q&I 6785 6060T HITL_S6T 4, &LD?

(A) 8 BT &6 (B) 12 BTL_sseT
(C) 16 BT &6t (D) 20 BITL_seiT
(E) allemL s flwelevemey (CCS1P/22)

191. Find the HCF of the polynomials 6x3-30x2+60x-48 and 3x3-12x2+21x-18
(A) (x3-3x+2)(x-1) . 3 (B) (x3-3x+2)(x-2) . 3
(0) 3 (x-2) (D) (x-2)(x-1)3
(E) Answer not known
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6x3-30X2+60X-48 IDMMILD 3x3-12X2+21X-18 YH W LLWMILILEH CHTenalG6r 60T LS.GILIT.6l.

&5 T600TS

(A) (x3-3x+2)(x-1) . 3 (B) (x3-3x+2)(x-2) . 3

(©) 3 (x-2) (D) (x-2)(x-1)3

(E) allemL s flwelevemey (CCS1P/22)

192, Simplify:100+8 +2+{(3x2)-6+2}
(A) 123 (B) 107 (C) 113 (D) 103
(E) Answer not known
&HMHESH 100+ 8 +2+{(3x2)-6+2}
(A) 123 (B) 107 (C) 113 (D) 103
(E) allemL s flwealevemey (CCS1P/22)

193. According to Indian Tourism Statistics 2022, which tourist palce is most visited by Foreign

tourists?
(A) Taj Mahal (B) Statue of Unity
(C) Mahabalipuram (D) Varanasi

(E) Answer not known
@BH W smmieur LeTerfl elleurin 2022651 LILG ABHBIWBTL(H &MHMIGVT LI 1&6TTe) 5 &
lemallel MmN LIMF&H&LILGLD &MHMIGVT SH6TLD

(A) szWaMITEL (B) 6r0@LL & b1 Ujemr6oTL Lq
(C) mammuedyrih (D) surrgeor &
(E) allemL s flwelevemev (CCS1P/22)

194. Which one of the following is not addressed in Missin POSHAN 2.0?
(A) Malnutrition in children
(B) Malnutrition in adolescent girls
(C) Pregnant and lactating mothers
(D) Malnutrition in elderly
(E) Answer not known
BLD & & MeooT LIGU M MIET 6TF GLIMAY 6T 2.0 FIL L SH6V GnmLILILTHSI?
(A) GLHnso6T 6T 261l | FF5 G GemmUTQH
(B) LS etTID QUG QLIcvoTE 6T 60T 26T | F&F 5 G GemmUT(H)
(C) &FL19600f1L1 GILI6TOTS 6T MU LIMeTL (KD STUILDITTE6T
(D) auwigl (S THSeUTS6l60r 261 | FFE5 S &GenmLm@)
(E) ellemL s flwelevemev (CCS1P/22)

195. Match the following
(a) Resignation of Congress Ministries 1.1943
(b) Neil Statue Satyagraha 2.1942
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(¢) Quit India Resolution 3.1927

(d) Provincial Government of Free India 4.1939
QUMTHS S

(a) sMaKHTs mngFFrameal LIGal allevdey 1.1943
(b) Bev Flemev FHWTHR TS 2.1942
(c) QeueTemeaTwiGeor QeuerflGUIM GIFLOM6oTLD 3.1927

(d) &5H5 T @HS W6 LOMSHTEoT HTFMHIGD 4. 1939
@ G ©© @@

A) 4 3 1 2
(B) 2 1 4 3
©) 4 3 2 1
(D) 4 1 2 3
(E) allemL s flwelevemey (CCS1P/22)

196. Assertion (A) : Cultural diffusion is the spread of cultural beliefs and social activities from

one group of people to another

Reason (R) : Cultural landscapes have been defined by the world heritage committee as
cultural properties representing the combined works of nature and of man

(A) Both (A) and (R) is true and (R) is the correct explanation of (A)

(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

(E) Answer not known

Famml (A) ! GOTFSFTIL LTeU6) 6T GeUMEFMT BLOLINGHmMESHET MmN Feps
QEWeLITH&6T ([ GLaNeS BB LMAMTIH GWellMGL! LITa|asTGLD.

&mgeord (R) : sevm&amy BlevsCSTMMLD 6T6dTLIG "@WMend DMMILD L0 6oT] S 6ot 60T
RBBIRM6THS LML LIL&HMeTEH GMIGGID HVTEFSTT LIGUTL|SH6T" 6T60T
2 &L UFmUFIWE GWealmev alemFWmiss UL (B 6Tengl

(A) (A) nmoid (R) &1, (R) - apeora (A)-6or srflwimest elemdssLn.

(B) (A) nmmiid (R) &1fl, (R) - apeorgl (A)-601 Frfluimet ellemd:aHIn {606y

(O (A) &1l @yermed (R) seumi

(D) (A) geumi apeorme (R) &ifl

(E) allemL s flwelevemey (CCS1P/22)

197. Assertion (A) : Federalism is merely an institutional arrangement for sharing power across
multiple levels of government based on the principle of shared rule and self
rule.

Reason (R) : Federations, have constantly adjusted and adopted depending on political,
social and economic situations
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(A) Both (A) and (R) is true and (R) is the correct explanation of (A)

(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

(E) Answer not known

Famml (A) Tl LTS eTedTUg USRTLILLL 9l & oMb &Ww QL F) 6Tenild
Q& T6Ten &HUIN 6T 1 LILIenL_UN6V TS TMHIS B IMI660T &6 60T LIy
Blemeu&erflel SF &ML LITeUenevd Q& meoor(h 6Terns).

&mgeord (R) @ Gl LTl &&6T, SIFSWey, Fens MM QUTHETISTT @GLOal&HCH ML
Sl QFSTLIFRAWTS Fifl QF UG SHeUemNG SIS 6865 60TM 60T.

(A) (A) nmoibd (R) &1, (R) - aueora (A)-6or Frflwimeot elemdssLn.

(B) (A) wnmmiid (R) &, (R) - o618 (A)-6o7 Fiflwiment ellemg: a1 3j6vev

(©) (A) &l syeormev (R) Seuay

(D) (A) geugy apermev (R) &if

(E) eflevL Qs flueievemney (CCS1P/22)

198. Which of the following are wrongly paired?
1. Obligation for the state and Individual to
Protect environment - Article 48A
2. Early childhood care and education for all
Children until they complete the age of
fourteen years - Article 45
3. Separate Judiciary from the executive in the
public services of the state - Article 39
4. Voluntary formation, autonomous
Functioning of cooperative societies - Article 44
(A)1,3and 4 (B)2,3and 4
(C)1and 2 (D)3and 4
(E) Answer not known
LN 6dTeu(HeusTaUM M6V &eUMITE: @) 600Td: &5 LILIL L 606 6T60I6U?
1. FOHMFGSGLPOVL LUMTSI&HTEHS T8 LDMHMILD
&60f1BLIf60T &L_60I0 - al& 48A
2. 9MTSH S GLHMSHEHEHGLD 14 UGl
WIQU|ID eUeDT GLPHeng Liheu LFmrlii
LMHMILD Hevel - & 45
3. IDMTBleVEH 6T QLIMSIE C&F 60618561 60T

Blieu&SH 60 G HS Hevfl BIFSSmM - efl& 39
4. SEOTETITII6U 2_(HeUM&HSEHLD, dal_(HMe
FBIGHIG6 60T H60TeoTTL & Q& WeLLImT(H) - & 44
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199.

200.

(A) 1, 3 LOMID 4
(C)1wmmib 2
(E) eflevL Qs flueievemney

Match the following
(a) Pitt’s India Act, 1784

(b) Charter Act, 1813

(c) Charteer Act, 1833

(d) Indian councils Act, 1861

QUMHSH S &
(a) Y. @B we &L LLb, 1784

(b) g LD, 1813

(c) emgergd &L LD, 1833

(d) @bHws sHeaeaTde FLL LD, 1861

@ Mm @ @@
(A) 1 2 3
B) 3 4 2
©) 4 3 2
(D) 1 3 2
(E) ellemL s flwelevemev

AR o=

Match the following

Subject Protected

(a) Beedi and Cigar worker

(b) Contract labour

(c) Equal remuneratin

(d) Migrant workmen employment
QUMTBHS SIS

LIMSI&TEH 56V

(a) 9 LHoMIb A&HQTL QS TLEEVTETT& 6T

(B) 2, 3 nmmiLd 4
(D) 3 nmmih 4
(CCS1P/22)

1. Decentralization of the legislative powers of
governor-General

2. Governor-General’s Government was known

as Government of India for the first time

3. Appointment of Board of control of six
members

4. Deprivation of East Indies company’s
monopoly of trade in India

1. U6 T-G18g60T a0l 60T &L L LlulMmiLd
IFPETIBIEHET AFSTIL  LFEUVTEHSELD
QFUIGH6

2. (INSET(LPENMUITSH &6 T60T T -G 82 60T [760) 60T
STFMMHIGID “"@HH W STFTHIGLID" 6Teor
SMPHEHLILILL Sl

3. oM 2 MILIN6T T8 6m6TE G\ &5 TevorL
SLGLUUTL® eurflwid pludlésliu® gev

4. @BHWmalle RP&HRBHH WIS &6 Lieofludleor
US55 WHOIFlenDmUIS &M S6)

(CCS1P/22)

Year of the enactment
1. 1979
2.1976
3.1970
4.1966

@uimmLILIL L 3600T(H
1.1979
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(b) @LIUBSH S QSTH6LTET TS 6T 2.1976

(c) &0 2er@lwild 3.1970
(d) yovQuUWT Qs mPlevmeT Ceuem6eVeUTUILIL]

62 (LD MI & MM MIGH 6V 4.1966

@ b ©© @ @

A) 1 2 3 4
B) 4 3 2 1
© 3 2 4 1
(D) 2 3 4 1
(E) eflevL Qs flueievemney (CCS1P/22)
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